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Topic:- Grad_Nutrition and Health

1) Mid upper arm circumference is a useful indicator of nutritional status and

helps to rule out:/ AT FUI Fig ® uRkfY, vy fRAUfT &1 T Iuaf Jhas g iR
B I 1§ HeTR B

1. Muscle wasting/ U= &

2. Body weight and bone weight/ TRR & YR Td 3R & UR
3. Metabolic age/ TaTU= 31

4. None of these/3TH ¥ B8 gl

Correct Answer :-

» Muscle wasting/ U=h &g

2) Protein content of mal-nourished pregnant mother can be increased by?/

FA e mifadt wrar & WA= it uen ERT 9g18 ST AHd! 8-

1. Strained grained meat and fish both/ &I g3il aMeR Al @ I@_cﬂ, M

2. Soups of mashed dal/ 72t g8 a1 & gU
3. Addition of skim milk/ AT 3% gY
4. All of the above/3udad qt

Correct Answer :-

« All of the above/3Iudad



is the process by which individuals immune system becomes fortified
against an agent know as immunogen./ __________ dg ufwar, Srae gRT aafed &1

wRRe v, TRIRETOH (SRAEISH) 0@ T ¥ Ao Talpd & a8, Fgardl §
1. Active Immunity/ afohd UfaRer

2. Passive Immunity/ fAfspa gfaren
3. Immunization/ UfcRel&HRor
4. None of the above/ 3Tad & q ®I3 gl

Correct Answer :-

« Immunization/ Ufareffemor

4) Which amino acid is deficient in cereals?/ 3Tl A fod Y 3na &t &+
gt g2

1. Methionine/ BIRYAAA

2. Tryptophan/ E@fﬁﬂ

3. Lysine/ AR

4. Phenylalanine/ﬁb‘ﬁFTQETﬁ:r

Correct Answer :-

« Lysine/ AR

5) Studies have shown that consumption of fruits rich in ascorbic acid with
major meals can improve:/3Ial & UdT I & fF &I WISl & 1Y RSP 30
¥ UYs Bdl & 9o o T GUR 3T IHdT 8

1. Haemoglobin levels/ 3 Hrdlfe & TR
2. Cholesterol levels/ BRI & TR

3. Triglycerides levels/ EAlsli?R:R 38 B TR
4. None of the above/ IWRIgd H A Eﬁ's‘ﬂfr

Correct Answer :-

« Haemoglobin levels/ 3 Hrdlfe & TR

6) Dietary intervention to relive morning sickness should be:/ Waﬁ

ITHISUl A Ed ¢4 & MR &Y # 1 g1 I1ige?
1. Dry carbohydrates food like crackers/ ﬁ@mﬂi@ W Uerd oY
2. Low sodium diet/ &H TIfSTH aTal MR



3. Antacid/ TueTRIS (UfcaeT)
4. Intravenous fluids/3f<:IRR1T (IUCEAY) TR

Correct Answer :-

« Dry carbohydrates food like crackers/ @ ®IaigrRIge @g ey S hhd

7) Elders who have limited access to food, living alone, low income and poor

transport facilities are vulnerable to:/ R 35 @feaal & U Hie $t Hifia ugd
Bt B, St 3P @ &, Rt oma w0 Bt @ ok R ury ufvag &t wvw giaurg gidh
§d__ ¥yl arRfa@ B1d €

1. Protein energy malnutrition/ Ui Sull HUISOT
2. Energy malnutrition/ &l HUNOT

3. Protein malnutrition/ TicH $UINor

4. None of the above/3WIad § ¥ I3 g!

Correct Answer :-

« Protein energy malnutrition/ SEH 3ol HUITOT

8) The maternal body supplies nutrients to the foetus, through special life

support systems:/ 9TdT &7 IR IR Shtaq nurs} a-af & areaw § My gy &)
Wue del Bt Mgfd a1 1 98 9 &

1. Placenta/ &rqu/aim@mq (@@?T)

2. Amniotic fluid/ Scd qRd (TRIICH TRigs)
3. Umbilical cord/ AR (FTHAT@)

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad

9) Standard precautions to be adopted to prevent spread of pathogens in
spreading tuberculosis infection include./ STERHARIT JHAU ™ arad

INTSD| BT Bard Vb P I AR wF arelt AT graurf~al § iy @
1. Hand hygiene/ BTl 1 w5l

2. Proper personal protective equipment/ 3fdd faaTd gRET SUHRTT

3. Respiratory hygiene and cough etiquette/ ¥4 Tl s aYT B sl RIvER
4. All of the above/ Iudad T+t



Correct Answer :-

« All of the above/ E‘C@Tﬁ gt

10) Vaccine contraindicated in Pregnancy is:/ ®I9-IT aRi_ mHiawr # fAfvg 32
1. OPV

2. Influenza/ ORI

3. Rubella/ T&dl

4. Tetanus/fceg

Correct Answer :-

« Rubella/ dal

11) What are the measures that can help in shaping food behavior of school

children?/ faamad I=f & YIS G AaER &1 PR 31 & HI-9 IUTT AgAP 8l
TPhd 82

1. Ensure the child gets adequate servings of fruits, vegetables and dairy products/

AT 3 6 o= &) waid amn § wd, afedat 3R gy Idre e

2. Teaching the impact of different foods on health/ W= R fafira @re uerdf & gvE &
IR & §drT

3. Inculcate good eating habits/ TH-UM &1 3} 3HTad @

4. All of the above/Gq?iaﬁ gt

Correct Answer :-

« All of the above/B'q?jHH gt

12) What is essential for meeting nutritional needs of essential fatty acids
like alpha linolenic acid and linoleic acid?/3Tdq% ddT él'l?ﬁ, o TApT INEIGIRED
3 T oo ora onfe &t wivor wia=ht smazawaret @1 gfd & fore «ar smazas &2

1. Lipids (Fats/oils)/ faftrs (aam/da)
2. Carbohydrates/ Eh‘l_aﬁ%ﬁé‘d

3. Proteins/ UIcH

4. Vitamins/ faeTia=

Correct Answer :-

« Lipids (Fats/oils)/ faftrs (awm/da)



13) If the mother's diet is qualitatively and/or quantitatively inadequate, it

will:/ If ATaT BT MBI VTS a1 ATATHS =8 | uaie g dl 98:
1. Limit foetal growth and development/ ﬂmﬁl‘{[?ﬁ qlr& 3R faerg &) Hftrg w3

2. Enhance growth/?{@ SlelUT
3. Enhance development/ fa®™ S¢TT

4. Enhance outcomes/UiRUMH TG

Correct Answer :-

« Limit foetal growth and development/ nﬁwmaﬁ qf@ 3R faewrg &) Hftrg H= am

14) Low birth weight is due to a number of factors including:/ 5/ & HHd HIR
U T & WD B% PRS g IHd 8 forqw wfia @

1. Age of the mother/ HIdl GA| S
2. Multiple births/ T& ¥ 31 T4

3. Improper/inadequate prenatal care of the mother/ HIdl Gl &Iﬂﬁlﬁ 1 3gaie W—t@c

4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt

15) Hepatitis A is caused due to:/3Ucrgfed A & BRI BT 8:
1. Feacal contamination/ H& ¥<gVU

2. Contamination of food/ IS T=gyUl

3. Contamination of water/ NS¢l VUl

4. A bacteria called serum hepatitis/ I3 gUcIslcy AH® Th GﬂaTq

Correct Answer :-

« Feacal contamination/ H&l ¥<gVUl

16) A mineral important for good development of bones and teeth is:/ T

@t &t SIfREY 9 gfal & oy faera & fore agayyf 8-
1. Selenium/ Iaf-aq

2. Iron/ 3TORA
3. Calcium/ o™



4. Copper/ﬁﬂ?

Correct Answer :-

« Calcium/ S

17) The recommended energy and protein for preschoolers (1-3 yrs) as per

ICMR 2010 is-/ ICMR 2010 & IR Yd-fagmead! a= (1-3 awf) 3q ot d Wi at
3rgifra ey argafa @ -

1. 1060 kcal - 16.7 grams/1060 f&aldaR! - 16.7 U
2. 1400 kcal - 20.0 grams/1400 fFaidaRt - 20.0 IH
3. 1660 kcal - 16.7 grams/ 1660 falidar! - 16.7 719

4.1360 kcal - 20.0 grams/ 1360 faidaR! - 20.0 I

Correct Answer :-

. 1060 kcal - 16.7 grams/1060 fHalbaR! - 16.7 UH

18) Low protein diet during pregnancy leads to?/ TYTTRT & SR $H W 9
TR & HIRUT T gIaT 32

1. Nutritonal edema/ UINUr Tra=ft TSt

2. Cause anemia/ XYddlcUdl (Q‘Fﬁﬁtﬂ)

3. Effect milk secretion during lactation/ U & GRTH g A1 &1 THIAd BT
4. All of the above/ B“Cl?ifﬁ gt

Correct Answer :-

« All of the above/ B“q?j?ﬁ gt

19) Pellagra is primarily due to deficiency of:/ LRIDI H@Td: @ HH |
ﬁ?ﬂ %:

1. Riboflavin/ JTgetrifa=

2. Nicotinic acid/ Aeifef e s
3. Thiamine/ Y=

4. Pantothenic acid/ﬁ?ﬁﬁﬁ A

Correct Answer :-

« Nicotinic acid/ FRaifef e ena



20) Complete the following NNMB:/ NNMB &1 TRT -TH dTU:

1. National Network Management Bureau/ “RHd Acad H-eHce &qR1 (JITTT Folrd Ua=A
)

2. National Nutrition Monitoring Bureau/ FRMd I HIHERIT &R (T o1 FHRHT
)

3. National Nutrition Management Board/ ﬁqufmq A orde ars (T@Hlﬂw EERCE]
aRkug)

4. None of the above/ 3Udad & ¥ &5 a8l

Correct Answer :-

- National Nutrition Monitoring Bureau/ e EIRA AifAeRT o1 (AFTF Uy R
)

21) Which of the following is not supplementary feeding program?/ 38 &
DI IR TER HTAHH T8l 82

1. Balwadi feeding program/ CIGEIS] 3R HRIHH

2. Mid-day meal program/ HT& W HTdHH

3. Sampoorna gramin Rojgar Yojana/ 0! JMHI0T ASHIR TISTT
4. ICDS

Correct Answer :-

« Sampoorna gramin Rojgar Yojana/ S#ul JMHTUN JISATR TreT

22) Adults nutritional requirements vary with: /30%®] &I YU Y= SMERIHATY
& IR S-S Bidl &

1. Body weight, age and sex/ IWR & R, A 9 fofT
2. Physical activity/ IRING fafafd

3. Physiological state/ YRR fhaTddd AT

4. All of the above/B'q?iEH gt

Correct Answer :-

« All of the above/3udad I+

23) Most of the weight gain during pregnancy occurs in the: /THTTRIT & SR
YR # if¥reier gfs # gl 8

1. First trimester/ Ugal faHTR!




2. Second trimester/ §¥|€| ﬁﬂ:ﬂﬁ
3. Both of the above/ IWIad gl
4. Third trimester / d_T faATS!

Correct Answer :-

o Both of the above/ RUCIESEARI]

24) Which of the diseases cannot controlled by vaccination?/ HprH0 A B
It Farfyal & e 38 foear s a@arn

1. PoIio/tﬁﬁEﬁ

2. Measles/ @i}

3. Diptheria/%@-ﬂﬁ'm
4. Anemia/‘FﬂﬁRﬂ

Correct Answer :-

« Measles/ @I

25) From the 33" week of gestation till full term, a healthy mother should
have prenatal check up every:/ ﬂ'{-ﬁﬁ'@ﬂ ¥ 339 g § AP qﬁ g & Y9 deb,
W UTdT oI P T W YaYd Sird H1d g1 a1 eu?

1. Weekly once/ It dlg T T IR
2. 0Once in two weeks/??fﬂ'lﬂ'l's’ H U dRR
3. Once in three weeks/ diF 9«8 H & dR

4. Once in four weeks/ IR I8 H Th TR

Correct Answer :-

« Weekly once/ It g T T IR

26) The first sign of pregnancy is usually:/ THGRIT BT UgdAT Ybd ATHTR U T

T 8:

1. A missed menstrual cycle/ ATRI® ¢ gt 37T
2. Immediate weight gain/ qXd HR de-T

3. Nausea/ SS®Tg

4. Brittle nails/HTR ARG

Correct Answer :-



« A missed menstrual cycle/ HRIS ¢ TgT 3T

27) Increasing the amount of sugar in ORS formula:/ ORS tﬁ'ﬁﬁﬁ BT BT AT
e | T ghI?

1. Worsen diarrhea/ 3% 3R foirs Smaa
2. Increases nutritive value/ Y& A g SITET

3. Dangerous/ 98 WP gl ST
4. None of the above/ SWRIgd # I ﬁ'ﬁc:@

Correct Answer :-

. Worsen diarrhea/ & 3R foirs Smad

28) Discoloration of teeth is caused by a kind of antibiotics called:/

1. Penicillin/ﬁﬁﬁlﬁq

2. Streptomycin/ XPHAIRA
3. Tetracycline/ égmrm%:r
4. Neomycin/Fammai=

Correct Answer :-

. Tetracycline/ ccrMfGA

29) All are true about measles except:/ T F Y o sqﬁ T fpa ﬁw Ay
Tt ¥ 32

1. Sub clinical infection/ @&UTeIH JHHUT
2. Incubation period of 10 to 14 days/10 ¥ 14 f&Af &1 IThgad 3@y
3. More severe in malnourished/ $UITSdl # 3ifeie TR

4. Secondary attack rate of 30%/fgddd 3THHU &R 30%

Correct Answer :-
. Secondary attack rate of 30%/fgdidd 3THHU &R 30%
30) What are the functions of food?/ HIeIH & T &1 &2

1. Maintenance of life and protection/ Sta ®TIH RaT 3R T&0T



2. Growth and development/ q@ 3R g

3. Functioning of vital organs and production of energy/ Hgaqul 37l @1 forariierar qur
Sl BT I

4. All of the above/ Iudad it

Correct Answer :-

« All of the above/ Iudad i

31) The recommended dietary allowance for protein for a pregnant woman

as per ICMR 2010 is:/ ICMR 2010 & 3R Tadt Tt 3 Wi &t ergRifya
e 3rgafd e

1.78 g / day/78 Wi/feA
2.58 g / day/58 T/faA
3.50 g / day/50 T/f&A
4.55 g / day/55 7/fé=

Correct Answer :-

. 78 g / day/78 Ui/faq

%2) Incubation period for mumps is:/ mu/m&n (IT) Dt ATMga Srafy

1. 10 days/ 10 f&A
2. 18 days/18 f&a
3. 5 days/5 fo

4. 14 days/ 14 fa

Correct Answer :-
. 18 days/18 faq

33) Modifiable risk factors in case of Hypertension include all, except:/ 3=
IGqaTY & HTHS | 34 A {5 Bl #= o= It SiRay sRe! | "=y fwar o a&dar
a2

1. Alcohol intake/ chﬂsm PT Ja-

2. Age/ S
3. Obesity/ e

4. Salt intake/H& &T Id




Correct Answer :-

34) Which factors affect malnutrition?/ FH-9 PR Q;Tlﬂ'GI'UT &I YHIfId Bd 82
1. Food availability and food accessibility/ HISH 1 IuASA G?ITW

2. Ecological and environmental factors/qTﬁ?Wﬂ'CrQa" JIiaRuig HRE

3. Economic and pathological conditions/ 3% Td ATeie fRufaai

4. All of the above/(fq?iaﬁ ekt

Correct Answer :-

« All of the above/3udad I+

35) Infectivity of chickenpox last:/ BIdl Wu® (fRIG-ureq) &1 TpTHEwdT

<t §

1. Till the last scab fall offs/ 3R TUSt IR S T

2. 6 days after appearance of rash/ &R fe&- & 6 fe7 91 d&
3. As long as fever last/ 9d doh gOR I8 d9 db

4. 3 days after appearance of rash/3gR e & 3 fe7 a1 a&
Correct Answer :-
« 6 days after appearance of rash/ Gal f¢@q & 6 f&7 91 a&

36) As per ICMR 2010 what are the dietary allowances for vitamin C for an

expectant mother?/ ICMR 2010 & 3aR, MHadl Tl & fag faerfie ¢ 3t smerg
srgufa feast 82

1. 60 mg / day/60 fu/faa
2. 45 mq / day/45 fion/feq
3.55 mg / day/55 fion/feq
4. 40 mg / day/40 faon/fea

Correct Answer :-

« 60 mg / day/60 fFrn/feA

37) Under five clinic are meant for?/ U HH (TSR WIgd) Wﬁﬁﬁﬁﬂ%m
TId 82



1. Immunization/ UfaReffemr
2. Nutrition education center/ TIVUT fRI&T B
3. Both of the above/B‘CIﬁT:R-r AL

4. Pregnant mothers/ TTyad

Correct Answer :-

« Both of the above/mﬁﬂ Al

38) They play an important role in the regulation of the metabolic activity in
the body and help in utilisation of the proximate principles:/ d TR # IUTI=g
nfafaft & Ao & gyl yfrer Ay § iR Mo ga 9 & Suahftewor o
e 3 §

1. Vitamins/ faeif=

2. Minerals/ @fsf

3. Vitamins and Minerals/ faeifiq oiR @fst
4. None of the above/3IWIad H ¥ &5 g!

Correct Answer :-

« Vitamins and Minerals/ faerftm ok @l e

39) The following is a list of symptoms of nutritional deficiency disorder, tick
one correct related to scurvy:/ RIERILL ~gAdT fIeRI & dar fog g1 98 |equr
A ol Tpdl | g g

1. Crack on lips/ 8161 BT Wedl/BId! H &R
2. Spongy bleeding gums/ ot A 3R ITY IGAHE BT
3. Mental changes/ A& gfadq

4. Rashes on skin/dl UR aéli

Correct Answer :-

. Spongy bleeding gums/ TSt TG 3R 3T IFAHTd BT

40) Smallpox was eradicated because of the following factors except:/ ET-I'J?I I

fra BITHR 3T FRP| S HRU TP (FTAUIRT) BT e 81 UTdT UT?
1. Long incubation period/ el RTga @iy

2. Extra human reservoir control/ 3ffaRkad AMa YR =z

3. Potent vaccine/ PIESRIRIGERIG]



4. Easy to recognize/ GgdT H IR

Correct Answer :-

« Extra human reservoir control/ 3ffdad AMd HeR gz

41) Which of the following vaccine was introduced most lately?/ TqqY g1a |
I8 A DIF-9T IR U g 82

1. Rubella/ Tadl

2. Measles / I

3. Pertusis/ T&IRIY
4. Mumps /S OTHARIY/TARGSAT (FHI)
Correct Answer :-

« Rubella/ dal

42) Vaccine which requires most stringent condition for storage:/ fd a&i=

& HUSRY & forg wad w91 fRufaai =nfee?
1. BCG
2. OPV
3.DPT

4. Tetanus toxoid/ eeg E’THFI‘TJ%S’

Correct Answer :-
« OPV

43) Green leafy vegetables and fresh fruits are good sources of:/ T ™eR
gfesrat iR arel wa BT ADTAT 8

1. Dietary fibre/ TR
2. Protein/ SIEG

3. Fat/ 941

4. Cyanocobalamin/ T [aTaTHH

Correct Answer :-

. Dietary fibre/ 3TERIG ¥



Puerperium period of women last from:/ &gt ot U dTdRIT (mm) 4|
Jafy g -

1. End of labor to six week after that/ Udd P! U T qdHR I 91 & B BINIEGED
2. During the process of Natural birth/ UTdfad Ud &1 Ufehdr & GRM

3. During last trimester of Pregnancy/ YR BT 3if~H fougt & ARE|

4. All of the above/3udad I+t

Correct Answer :-

« End of labor to six week after that/ U9d &I JHING J AHR ST dI¢ & &: G dPb

45) Major epidemics of influenza A occur at intervals of:/ $UUWT A ®t g3t

HeTHTRGl ¥ I~RTd R bad! &
1. 2-3years/2-3 qy

2. 10-15years/10-15 99

3. 20-25years/20-25 T8

4.1 year/1 CL

Correct Answer :-

« 20-25years/20-25 GL]

46) The peripheral worker of ICDS scheme is:/ ICDS Tie{l & ufvdtg Prdcwdl g
1. Trained dais/ UfRrférd <gai

2. Anaganwadi workers/ aﬁmﬁmﬁm

3. Balwadi workers/ W@W

4. Health guide/ TRy Arfeefe

Correct Answer :-

« Anaganwadi workers/ 3{TTaTS! HRIG AT

47) Which of the following is an advantage of breastfeeding?/ 39H d ﬁT-r,
U $T TP 1Y 82

1. Breast milk is perfectly suited to the baby's nutritional needs/ HIdl Wgﬂﬁlﬂﬁ
UIyor Tielt sfaxgsmdrstt & e smeef 0 & Iuyed g §

2. It contains maternal antibodies and immunological cells that stimulates immune
system of babies/ 3TH HIdT § U YUCIEIS! Td UfRe HIRHTE gict € S R & uforem o
B eI Rl &




3. Breast fed babies have fewer allergies/ ATdl & [ARS g ﬁl{lﬁﬁ %! Tarat w4 gl 8
4. All of the above/3dad It

Correct Answer :-

« All of the above/3Iudad Tt

48) Susceptible host is the host who has the immunity:/ JgUrRia ot ag Ot @
o ferem e gt @:

1. Yes/ E\TJ

2. No/ =&l
3. May be/ R0

4. None of the above/dhlf:l:clrl ¥ g 7ol

Correct Answer :-

« No/ &l

49) A major nutritional problem affecting young children leading to blindness

is:/%ﬁ%aiﬁﬁuwﬁaaﬂﬁmﬁwm,tﬁwwwﬁmﬁmmwaq
STt 8

1. Iron deficiency/ 3TORA T HH

2. Vitamin C deficiency/ faerfiq C &t &4t
3. Vitamin A deficiency/ facifia A &1 ol
4. Calcium deficiency/m P HH

Correct Answer :-

« Vitamin A deficiency/ facifiq A &1 &t

50) Diet that is appropriate in normal pregnancy should be adequate in:/

__ % ygi 9T aren SmeR arHT THfat & fore Suged g @:

1. Proteins, vitamins, minerals, carbohydrates, fats/ WA, faerf®m, @, Heferse,
GRSl

2. Fats and Minerals/ a9 3R @fAs1
3. Carbohydrates and vitamins/ ®Taglgsc U4 fqerid

4. Proteins, carbohydrate and fats/ Eﬁ'c‘ﬁ, wldequjc Td 991

Correct Answer :-



« Proteins, vitamins, minerals, carbohydrates, fats/ Eﬁ'cﬂtr, ﬁmﬁrrr, @Ii'\-lui, d)ldelq\E,c,

51) Amino acids that are indispensable and are not synthesized in the body

are called: /3 3fiHY 3@ &t orafverd § oiR TR & xR = H e, Fgard &
1. Mutual amino acids/Wﬁ’E ST 3

2. Non-essential amino acids/ 3FIAIH (AH-3UREAA) HAT 3T

3. Significant amino acids/ Ag@YUl 3{HAT 3T

4. Essential amino acids/3{Taxa® (SUREW) 3l 3

Correct Answer :-
. Essential amino acids/3a%a® (SURI) HHAl 3T

52) 70% or more of the pre-school children, 90% or more of pregnant
women and adolescents girl suffer from:/70% ¥ 3% gd-faemeardt = 9u1 90%
¥ orftre mfadt Rt wd formmfvai ¥ difsa gidl &

1. Iron deficiency/ 3TORA P HH

2. Sulphur deficiency/ Te®HR &I HHI

3. Magnesium deficiency/ R ®1 HH
4. Phosphorus deficiency/ I RY BT HHT

Correct Answer :-

« Iron deficiency/ 3R BT HH

53) The diseases notifiable to the WHO under the International Regulation

Act are except:/ 39 ¥ foFdl BIs X 3= A1, =RIEH Frawe arfufaw & smfa
WHO & 3iftRge-iy &

1. Plague/ @I
2. Dipetheria/ femittean

3. Cholera/ %Trﬂ
4. Yellow fever/ did SR

Correct Answer :-

« Dipetheria/ fe®iifean



A physician who specializes in providing care during pregnancy:/ CEACIE:ED

S THTTRIT & ERTH T@HTA $3A | =iy g &
1. Pediatrician/ STARRTARINT
2. Gynecologist/ TWRINIRIS

3. Obstetrician/ Ugfdfag=t
4. None of the above/ SR T I aﬁs‘ H@’f

Correct Answer :-

e Obstetrician/ Qﬁﬁfﬁ?ﬂ‘ﬁ

55) In which year targeted public distribution system was launched
replacing nearly universal public distribution system.m af & grdwife faazur
gomelt 3R g3 A R TrwRT Jrdhvitfre ardwifae faavor yomedt &1 wiE & o ur?

1. 1984
2. 1990
3.1997

4. 2001

Correct Answer :-
« 1997

Topic:- Grad_General Knowledge and Logical Ability

1) A sum of Rs.53 is divided among A, B and C in such a way that A gets Rs.7
more than what B gets and B gets Rs.8 more than what C gets then ratio of

their shares is:/ ¥Ud 53 &I A, BdYUT C # 39 d3g dicATg fF A B B 4 TW© 7 3fie
I &1 94T B &1 C A & 8 3ifs ure g1, a1 39 fawal &1 3rgurd &:

1.25: 18: 10
2.6:7:8

3.1: 4: 9
4.5:8:3
Correct Answer :-
« 25:18: 10

2) If a pen is sold at a gain of 6% instead of at a loss of 6%, then seller gets
Rs.6 more. The cost price (in Rs.) of the pen is: /3¢ Th $TH B 6% BIf P



SMUET 6% ATH W AT W1, a1 faghar & Fu 6 31w Ure 817 | Fad &1 FIg (3. H)
1. 40
2. 66
3.50

4. 36

Correct Answer :-

3) The main chemical substances present in the bones and teeth of animals is:/S=g3fl & gial g
R § g@&ra: B A1 Irf-s ggrd ura Srar 82

1. Sodium chloride/STH FARIZS

2. Sugar/ B

3. Calcium Phosphatem Hiehe
4. Calcium Sulphatem Jehe

Correct Answer :-

» Calcium Phosphatem Biehe

4) According to the National Food Security Act, 2013, which of the following
options are not true? / TE Q= TREAT ATAIH, 2013 Fraeelt 3 fasheui & & F14T 9@t

TRl 8?
1. It extends to whole of India / 8 W ART H AN &
2. There are 5 members in the State Food Commission / T5% @1 A0d # 5 9a€T gid &

3. Both of the above / 392k a1
4. None of these / =% & FE 7T

Correct Answer :-

« There are 5 members in the State Food Commission / T1s7 @Ter G AT # 5 92T 214 &

5) Riboflavin is-/IZ T 8-
1. Vitamin A/ fae1fi= A

2. Vitamin B2/ faeTfi ¢t 2

3. Vitamin ¢/ faeif@= C

4. Vitamin B12/faetfi= &t 12



Correct Answer :-

e Vitamin B2/ f[derf@a &t 2

6) Saliva hydrolyses starch to which compound: /ATHd @R & 19 &1 faued forg 9t # giar &:
1. Glucose/ "T“Eﬁﬂ

2. Sucrose/ W
3. Fructose/ Thae g

4, Acetic acid / Qﬁllém 3T

Correct Answer :-

e Glucose/ W

7) ‘Swachhta Se Sampannata Ki Aur’ is the tagline of - / ‘Ta=gaT & T¥ =T #T i
A & 7 frereT SraTeT 82

1. Swachh Swasth Sarvatra / ¥=g T 999

2. Swachh Bharat Abhiyan / =g wea 9=

3. Swachhta Udyami Yojana / ¥a=at ST st

4. Swachh Bachche Swasth Bharat / &= ag Tae 9%d

Correct Answer :-

« Swachhta Udyami Yojana / ¥a=gaT I=r|T TSt

8) Walking at 3/4 of her normal speed Tanvi takes 2 hours more than the
normal time. What is her normal time?/ (Uit STHT=I Tfd &1 3/4 Tlﬁr'\ﬁilﬁ?rgl:{
T AT AT UG | &) HeT 3ifis Juy adt 8, a9t S QT 9Hd 1 32

1. 2 hours/ 2 dcl
2.5 hours/ 5 dcl
3. 6 hours/ 6 HcT

4. 8 hours/ 8 ©cl

Correct Answer :-

« 6 hours/ 6 °cl

9) How many categories of awards are there in the scheme Saanjhi? / Ti=t
IISTAT % Said a1 & T f{T STanr?



1.2
2.3
3.4

4.5

Correct Answer :-
e 4

10) Female sex hormone is-/ ATGT o1 ETlﬁ_"I' %

1. Androgen/ QUg ol
2. Adrenalin/ Qéﬁ o

3. Insulin/ 3-GfeH
4. Oestrogen/ Q@\_IFT

Correct Answer :-

» Oestrogen/ Q@W

11) With respect to the Child Marriage Act, 2006, find the correct sentence
out of the following options. / sTa faaTg srfafa=w, 2006 F gw&taa e faweqt & ¥ a8t
e &7 =37 #Y |

1. This law is also applicable to citizens of India beyond India / g stfafR=w w=a % a18<
ATLAT AT 9T o AR &

2. This law is applicable to whole of India, except Jammu and Kashmir / 7g sfafaas
STHY 3T FEHIY % STATAT X WA H AT &

3. Both of the above / 392 =1
4. None of these / =7H & FI< &l

Correct Answer :-

« Both of the above / 39Z=F Tt

12) A group of men decided to do a work in 10 days, but five of them absented
themselves. If the rest of the men finished the work in 12 days, find the number
of men that had initially decided to do the work./ 3TEfHal &1 ts Tqg forsdt wd &1
10 31 o 1T H== BT =g F=a1 8 AfH 379 I 5 el SulRAd g1 o1d 71 afe A ameeht I
B b1 12 1 A R B &, el @) T'm Ry # fra o2

1. 20 men/ 20 3{TGH
2. 30 men/ 30 3{TcHT



3.40 men/ 40 STGHT
4. 50 men/ 50 3MGHT

Correct Answer :-

« 30 men/ 30 3McH!

13) The subnet mask for a particular network is 255.255.31.0. Which of the
following pairs of IP addresses could belong to this network? /f&ft Aead &
o 9eAe AP 255.255.31.0 81 A # F I A1 13U Ud & SISt 39 Acad § Wafa

2

1.172.57.88.62 and 172.56.87.233
2.10.35.28.2 and 10.35.29.4
3.191.203.31.87 and 191.234.31.88
4.128.8.129.43 and 128.8.161.55

Correct Answer :-

« 128.8.129.43 and 128.8.161.55

14) Till which class is the Mid-Day Meal scheme available to the children? /
HEATH WIS JISTAT HIAH HE(T 6 GG1 h (17 ITAH g2

1.V
2. VI
3. VII

4. VIII

Correct Answer :-

« VIII

15) The blood glucose level is commonly expressed as:/ HTHTId: Idd ST B 5T ure I
FATIT ST &

1. Mm of Hg
2. Milligram per decilitre/ fBreiume gfa SHieie”
3. Parts per million/ Uré R fArferm

4. Grams per liter/ I Ufd &fieX

Correct Answer :-

« Milligram per decilitre/ fireiom ufd S¥fteiicr



16) Which Five Year Plan had launched the Rajiv Gandhi Panchayat
Sashaktikaran Abhiyan? % & & S99 T9aW g TISHT 7 TS( ) TE T FLITRRRT
STATT FT T FhaT 7?2

1.9th / o7

2. 10t/ 10-aT

3. 111 /1137

4. 12t /1237
Correct Answer :-
. 12th /1237

17) According to the Dowry Prohibition Act, 1961, which of the following
amounts to being a dowry?/ g« Aue srfaf==w, 1961 & srga 7 & & Fi=ar ey
Tgol T T | SrTIT?

1. Presents and gifts / 39g@
2. Affectionate and voluntary dowry / el va wfsg g

3. Food and arrangements / @THT U A€

4. None of these / SUIH ®IE Al

Correct Answer :-

« None of these / IUIE FE A5l

18) Out of Diphtheria, Whooping cough, Typhoid, Diarrhea & Malaria which is not caused by

bacteria?/ FSTRfYaT, Brelt @i, ergwigs, srafvar g wafvar Ay & ¥ #149 i far #t auig
q T g1 82

1. Whooping Cough/ CANIEEIR]
2. Typhoid /CIRWIgS

3. Malaria / AQIRET

4. Typhoid/CISHITS

Correct Answer :-

« Malaria / TART

19) For how many years can a person be imprisoned for keeping a brothel or
allowing premises to be used as a brothel under the Immoral Traffic
(Prevention) Act, 1956 in the event of first conviction? / 3% Ig=amam= (TrharTH)



AT, 1956 F Siavia gl awiT st (i § Forelt T e Ta= % fore a7 aRE< &1 J9amea F
& H TEAATA F B At 39 % org srferwaw fraw aot % forw &g FT awar 82

1.3
2.4
3.5

4.6

Correct Answer :-
e 3

20) Which of the following Acts were amended by the Criminal Law
(Amendment) Act, 2013? / sraxriaes ffer (semre) srfafaam, 2013 % siqsta R & 9 e
SfeaawT & Herree AT TAT?

1. Indian Penal Code / 9T<diT &< |igar
2. Indian Evidence Act, 1872 / 9= ate srfarfaay, 1872

3. Protection of Children from Sexual Offences Act, 2012 / =31 T & ra<Telt & FLe0r
srfartaaw, 2012

4. All of the above / IUTI<F THT

Correct Answer :-

« All of the above / 3=k T+t

21) Since which year was the Department of Women and Child Development

separated from Ministry of Human Resources Department to form an
independent ministry?/ a2 tg amer At AT & ®Aw a9 § q9a qarae O
HATAT § JIF F TH €qa= GATAT JATIT TAT?

1. 2004
2. 2006
3. 2008
4. 2010

Correct Answer :-

22) Which of the following option is best represented by the following

diagram?/ fFafaf@a & ¥ <19 a1 fawe g snefa grR1 o=ifar s g@ar g 2



1. Human, Sea, Mountain/HJ¥, 9'R, UglS
2. Domestic, Dog, Buffalo/UTeld, P, oy
3. Doctor, Nurse, Patient/Siaex, 74, Jft

4. Sun, Moon, Water/EBf, I HI, Sfel

Correct Answer :-

« Domestic, Dog, Buffalo/Urdd, $l, Ig

23) Which of the following is not a component of the Pradhan Mantri
Swasthya Suraksha Yojana? /5 & & ®I94T fAsed TeT H31 Tqreeq AT FISTAT & T

Tl &2

1. Setting up of AIIMS like institutions / TF ST& TRTSAT T TITIAT

2. Upgradation of Government Medical College institutions / aFT{ Ffeser Fierst HEATHT T
I

3. Insuring the persons below poverty-line for health-care / &t ¥&T F = wg+ aTel
FTEAT T TATEST HAT % (o7 Fgraar HeAT

4. None of these / 378 & #IE LT

Correct Answer :-

« Insuring the persons below poverty-line for health-care / T ¥@T % A= W@ ATt
TR T TTE 4T o o agrdT w37

24) DIRECTIONS: Choose the missing terms out of the given alternatives./

frrdr: fog e faeedl # & g ual &t Jra &1 |
r_sr__tsrrt__rr__sr

1. ttss

2. tsts

3. trst

4, sstt

Correct Answer :-



25) In which year was the Prevention of Women from Domestic Violence Act

passed? / =¥ f3ar & wigerm d@xeror srfefaaw fg o o aria fam o
1. 2003
2. 2004
3. 2005
4.2006

Correct Answer :-

« 2005

26) How many rectangles are formed in the figure given below?/ F& & 75

3rpfa § Mgl Ft J@ frat g2

2.7
3.9

4. 11

Correct Answer :-

- 11

27) Which of the following is included in the term ‘workplace’ under the
Sexual Harassment of Women at Workplace (Prevention, Prohibition and

Redressal) Act, 2013? / TiZaTsil &7 Frdedar U< A Iedtew (Fareor, it sie gfaa)
srferaaw, 2013 ¥ siaviq Ug ‘FEeA § 9 9 § 47 onfHer g2

1. Dwelling-house/ smETE[g
2. Sports-complex / @A 5

3. Hospitals / sreaarer

4, All of the above / 3TI<F T+t

Correct Answer :-

« All of the above / U<k T+t



28) If you write criteria values vertically (one in a row) it will mean in MS-
Access /MS-Access H, af¢ 30 ATUES U iR forad § (T ufda ®) a1 391 aaae
a’rﬂz

1. OR conditions / OR ®aI¥MA
2. AND conditions / AND &sITH

3. NOT conditions / NOT &aI®H
4. None of these/378 d &S gl

Correct Answer :-

« OR conditions / OR &aITHA

29) The Ekalavya Model Residential Schools are for the - / T&Hasx Aiew LN fAFw
o e 9 & foraes forg 872

1. Scheduled Castes students / s ST St
2. Scheduled Tribes students / ST ST % BT
3. BPL students / et ¥ & =t arer =t

4. Rural Gifted students / ITeftor sfarsmaT =it

Correct Answer :-

« Scheduled Tribes students / SIqHRA ST & AT

30) Which of the following ministries is related to Vanjeevan? /a=sfiaa far & &
T T HATAT § G 872

1. Ministry of Tribal Affairs / ST FTd HATAA

2. Ministry of Environment, Forest and Climate Change / 9313, a9 3T SToay Tadq
HATAT

3. Ministry of Social Justice and Empowerment / ATHTIST =73 i< STTEERTHAT aTer
4. None of these / =78 & TS Tl

Correct Answer :-

« Ministry of Tribal Affairs / ST FTd HATAA

31) Which answer figure will complete the pattern of the question figure? /

e ¥ & o1 3t SR N Y s &1 qui wlt?



Question Figure: /q9a ampfa:

*

Answer Figures: / 3ca? rgferan =

Wiy,

AVa ||ava
(a) (b}

1.a

2.b

3.C

4.d

Correct Answer :-

« b

32) Protein responsible for blood clotting is: /W& St Yo &7 YahT SHM & forg IwRer &:

1. Albumin A / 3e[H A
2. Globulin / TS e

3. Tbrin/ SfsH

4. Fibrinogen/ W@#ﬁﬁ

Correct Answer :-

 Fibrinogen/ q'?lf{m\_rﬁ

33) In which year was the National Commission for Protection of Child Rights

set up in India? / 9TXT § WY ST LA AT DAL 99 | T(oq 63T 713T?
1. 2005
2. 2006
3. 2007
4. 2008

Correct Answer :-

« 2007

34) Hormone secreted by placenta is-/ 3[WRT (R T) §RT FAIfad g1 aTa 8IHIA 8:



1. FSH

2. Prolactin/FTalTae

3. Human chorionic gonadotropin/gdH CAIRCIIRED ‘ﬂﬁ@@'\lﬁ:{
4. Prothrombin/STTIE

Correct Answer :-

e Human chorionic gonadotropin/gdH- CARCIEER ﬁélaﬁlﬁq

35) In how many years will Rs.1,800 amount to Rs.2,178 at 10% per annum

when compounded annually?/ fFa= auf & ®ud 1,800 I IR 10% a1fife wrafs
T B G § 4 2,178 Tl SMAf?

1.3
2.4
3.3.5

4.2

Correct Answer :-
« 2

36) For which of the following programmes were the Daksh Skills Lab

opened? / [F¥ ¥ & &9 FEAFAT & o0 387 Bofoq A T91AT AT B2

1. Pradhan Mantri Swasthya Suraksha Yojana / e w3t Tame=a g2t JreiT

2. Swachh Swasth Sarvatra / F=g T+ 994

3. Reproductive, Maternal, Newborn, Child and Adolescent Health Framework / 9594,
AT, TaSITd, a7l 3T ThellT T FTaFH

4. Mission Indradhanush / s=&qw sItH=mT
Correct Answer :-

« Reproductive, Maternal, Newborn, Child and Adolescent Health Framework / 9519+,
AT, TaSITd, a7l 3T fheliT T FFa

37) Which data communication method is used to transmit the data over a

serial communication link?/ Fa AR o W ST T91ivd 4 & forw o ot s1et
TR Ugfd &1 ST fHar Srar 82

1. Simplex/ Ry
2. Half- duplex/ 8T% Wi
3. Full- duplex/ $d g&idd



4. None of these/stlff@faﬂ'scﬂﬁ

Correct Answer :-

« Full- duplex/ Bd gwiad

38) DIRECTIONS: Find out missing number from the figures given below./

forém. & it sreforat ® g T wird PR

([ (28 [o]
\ofie/ \at]ur/ ¢ i/

1. 117

2.40
3.61

4. 81

Correct Answer :-

39) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements./fa=r: T fT e wx A 0 T 3R 3P 18 $© Frepd faw 7w 1 smuwt
feu T YA F I AT 8, o € 9 Id3rd gt 9 a1 wdia g gt 1| 9+t et &) ufew
ﬁwxgﬂﬁqﬁsﬁqnﬁﬁwﬁﬁﬁﬁﬂmaﬁmwﬁmm% AR Wy a
O |

Statements:/HY:

Some tables are watches/ﬁfﬁr, uf$ar &

Some watches are Iamps/WﬂﬁR‘ﬁ’, dup

Conclusions:/ﬁlﬁﬁﬁf:

I. Some tables are Iampslgﬂﬁﬁ, U g

II. Some tables are not lamps/$S A, &S &l

1. If only conclusion I follows /3f¢ &ad FshY I WW%

2. If only conclusion II follows/afe &ad fsHY 11 &WW%

3. If neither conclusion I nor II follows /afe = @l F15BY I 98 11 38R0 &l §
4. If both conclusion I and II follow /?I%ﬁ'@b_ﬁf I 3R II A S@TUTW%



Correct Answer :-
« If neither conclusion I nor II follows /afg 7 & feewe 1 7 &Y 11 SFIRUI =T §

40) The first number is twice the second number and half the third number.
The average of these numbers is 35. What is the value of the smallest

number?/ YYH H@IT G1d TSI $1 GAT 8 3R qeita W@ ot eneh 81 57 w.msif &1
3Nd 35 g1 T DI AT BT HTH T 82

1. 15
2. 20
3.45

4. 25

Correct Answer :-

41) In which year was the Indira Awaas Yojana launched? / 31 srame TisHT &7
A Y a9 & FRIT T2

1. 1982
2. 1983
3.1984

4. 1985

Correct Answer :-
« 1985

42) Which program are used to correct the spelling in MS-word?/MS-word s |

WA Bt Hg FRA & forg fore Ui &1 Sua gien 82
1. Spell-pro/@ﬁ?ﬁ

2. Spell-check/<d 9%

3. Output/3MT3C Y

4. All of the above/3Iudad Tt

Correct Answer :-

« Spell-check/d J&



DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fiq=r: fFafafad vy & uyars e (2) & ®=H
TR T BT AT I ST 2

349.99 x 19.99 + ? x 180.01 = 12000
1.12
2.28
3.47

4.93

Correct Answer :-

44) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fadar: frufafed uy & uyaras e ) & R
R THIT DI AT | ST 2

4374562 x 64 = ? x 7777
1. 360

2. 3600

3. 36000

4. 72000

Correct Answer :-

« 36000

45) Hardik scores 30% marks and failed by 5 marks, while another student
who scores 40% marks gets 10 marks more than minimum pass marks. The

minimum pass marks is:/ BI{¢® ®I 30% 3% Ut il 3, TYUT 98 5 3(hl A rg=iivl &t
ST 8, Saf% U 30 BT O 40% 3id Ut giat 8, I«itvf 811 & e smazas <Aay 3w 9
10 3% 34 U HaT g1 Il 811 F e smawas g=dH 3w §:

1. 50
2. 80
3.120

4. 150

Correct Answer :-



46) Q walked 20 m towards West, took a left turn and walked 20 m. He then
took a left turn and walked 20 m and again took a right turn and walked 20
m. How far is Q now from the starting point?/Q, Uf3# fezm # 20 Hiex 9ar, fbz ame
g1 3R 20 Hiex gar| fpe a8 918 ge1 3R 20 Hiex gar iR fibr a8 3re g1 3R 20 Hiex =ar|
349, Q IRfU® fig A fpa~it gx 82

1. 40 meters/40 Hicx
2. 50 meters/50 HIc?
3. 100 meters/100 HIcX
4. 120 meters /IZOQQIET

Correct Answer :-

¢ 40 meters/40 Hiex

47) What is the term used when you press and hold the left mouse key and
move the mouse around the slide?/ mmﬁﬁﬁwm%aﬁ 3R
TS BT SUUNT B B T Hed 8?

1. Highlighting / gTgagfeT
2. Dragging/ & (M)
3. Selecting / Id AT

4. Moving/ Hfd
Correct Answer :-

. Dragging/ d@id (SR1m)

48) Which of the following Constitutional Amendments had removed the
Right to Property from the Fundamental Rights? / % & & fi9& g3ar«« genes &
FTT HOTRT T STTAHTT T HTorsh STTRAHTL ot qATIorT & gaT T TAT?

1. 42"9 Constitutional Amendment / 42-% F3eTiaa Hovem
2. 43" Constitutional Amendment / 43-3 &3gria Herrga
3. 44t Constitutional Amendment / 44-3 3eTia Fetra
4. 45t Constitutional Amendment / 45-3 &aTfae Fofram
Correct Answer :-

« 44t Constitutional Amendment / 44-3 TR Tore

49) In the Indecent Representation of Women’s Act, 1986, which of the
following would mean “advertisement”? / afgaTsit F stgfier wiaf=fac (Foe)



srferfaas, 1986 ¥ srqgam e & & &rwar Aoy “fasma” & s
1. Notice / difew

2. Label /&=

3. Wrapper / @9ed

4. All of the above / 3T T+

Correct Answer :-

« All of the above / 3=k T+t

50) What does the VLOOKUP function do?/ VLOOKUP WaRI- &1 dl 8?2

1. Checks whether text is the same in one cell as in the next/ WW%%U‘I’O’W@
JaF g A g

2. Looks up text that contain ‘v// TR P 3Wdl & o qH v BT §
3. Finds related records/3fed RepTs gedr &

4. None of these/%‘lﬁ@faﬁ'scﬂﬁ

Correct Answer :-

« Finds related records/Jsfid RS gaar g

51) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ féxr: fFafafaa urg ard &1 wryd® srera w7 - g mo uy
& I Gyl

Percentage of expenses on various items during book production and sale/

TEId & ITe iR faest A fafire wel wr @ &1 ufo=ma

Advertsing cosy TS
wd, 18%

_“‘_-_‘_‘_-_‘_“'_‘—-‘
r Binding cost/ WETER
ad, 18%

Beryalty cost/ Wirwm
e, 15%

MUtk | about Cody).
frfrr =d, 7%

Paper cost T W,

T4%

The ‘paper cost’ is approximately what per cent of ‘Printing cost’?/ BT W
e @ &1 @y fean ufazma 82



1. 15%
2. 20%
3.35%

4. 27%

Correct Answer :-

« 20%

52) If white is called ‘blue’, ‘blue’ is called ‘red’, ‘red’ is called ‘yellow’,
‘vellow’ is called ‘green’, ‘green’ is called ‘black’, ‘black’ is called ‘violet’ and
‘violet’ is called ‘orange’ ,then what would be the colour of human blood?/
afe e &I e a1 ordr g, Har &) AT’ Sl SdT §, ‘qra’ $ W ‘el ST @
ST B AR wET AT 8, 9 IS & I9d BT T T G2

1. Red/dld
2. Green/@xl

3. Yellow/dial
4. Violet/a'ﬂ:ﬂ

Correct Answer :-

. Yellow/dTdr

53) DIRECTIONS: Find the mirror image of the figure given below:/ fAdsr: A &
T} spfa o1 guur wfafae gra #3:

Question Figure: /q9al arpfa:

7Y

Answer Figures: | 3eaz Fgfaai :
N

.-d'l" r{:"“ 'A! -CI
ut. L |"<b

(1) (2) (3)  (4)

=
L
O

1.1

2.2

3.3

4.4

Correct Answer :-

e 2



54) Pointing to Hemant, Seema says, “He is the paternal grandfather of my
eldest son Mahesh”. How is Hemant related to Seema?/%ﬁﬁ?ﬁ aﬁ?'{szrmmﬁ
gU T FEdl 3 P a5 N 999 98 [ U & Sra1 Sit 871 g4, J1 I frd R awfta
82

1. Father/fOdr

2. Uncle/ dT=T

3. Brother-in-law/ Gaz/SiTel

4. None of these/3TH ¥ &5 ol

Correct Answer :-

« None of these/‘s{qﬁ@[?ﬁl‘%ﬂﬁ

55) In communication satellite, multiple repeaters are known as?/ JdR 3UJg

#, Bg Ndted & ¥u § =1 SI7et 2
1. Detectors/ f&caed

2. Modulators/ Iﬁ@?ﬁﬁ

3. Stations/ <X

4. Transponders/ CIUISY

Correct Answer :-

. Transponders/ i UISY

Topic:- Grad_Managerial Skill

1) Each community development project covered about 300 villages with an
area of 450-500 square miles and a population of 1/ ercr oo
REISHT = U 300 1T FHav fhT 6T $a &Fd 450-500 T Hia a1 A
AT 4

1. 1.5 lakhs/1.5 drd
2. 2.0 lakhs/2.0 did
3. 2.5 lakhs/2.5 <@

4. 3.0 lakhs/3.0 o™

Correct Answer :-

« 2.0 lakhs/2.0 g



2) represents an Unorganised Group:/ SIS/ ruafRyd
g P! fAefag o &:

1. Out-groups/ SEXYg (3T3-JU)
2. Crowd/ Hi$

3. Involuntary group/ s dHe
4. Voluntary group /%3ddd! Ig

Correct Answer :-

« Crowd/ ﬂ-ﬂ_s’

3) Mention what type of media exhibition,television are?/ 9dT¢ & uceil,
Teifae fore R & |1eaH @2

1. Mass communication/ 59 IR
2. Group communication/ ¥4g ddR
3. Individual communication/ dafdde IR

4. Public communication/3Tdel-ie IR

Correct Answer :-
« Mass communication/ 9 IdR

4) From among the following identity one which is three-tier system of the

local self - government?/ 398 ¥ UgAH % WY WWxmgq 9 Bty uaxir #1982
1. Gram panchayat - khand samiti - zilla praishad/ 919 Ga1ad - ©e iHfd - forer afkeg

2. Gram panchayat - village school - village cooperative/ 9T UdRAd - U9 foeme - 9

HgpRI giAfd
3. IRD programme — TRYSEM - NREP/ IRD &Td&H - TRYSEM — NREP
4. Lab to land - KVK - KGK/ TARTRITAl ¥ YfH T - KVK - KGK
Correct Answer :-
« Gram panchayat - khand samiti - zilla praishad/ I/¥ Uard - T IiAfd - forar uug

5) Both society and are the products of social interaction:/ JHTS MR

|, 3 € graTeTe Sr=afshdT T IdTE &
1. Customs/ difaat
2. Traditions/ QAR



3. Culture/ T34 (FeeR)
4, Community/JHard

Correct Answer :-

. Culture/ ¥a¢H (FeR)

6) “Public life” is defined to?/ “\Iduif=® Sfia=1" f&¥ a& ufwfya g2
1. Gemeinschaft (Community)/ GHISIRIUC (THGMA)

2. Gesellschaft (Association)/ TSIGRITYE (T4/ITeaY)

3. Tonnies’ Classification/ ot aeffeeor

4. None of the above/IWRIad & ¥ s g1

Correct Answer :-

. Gesellschaft (Association)/ ToIRIUe (T9/IT8ad)
7) The art of communication is:/ JdR @I HaAm %—
1. Learning/ 31f&H ()

2. Listening/ g1

3. Feeling/ HeJd AT

4. None of the above/ B’q?jaﬁ = ﬁ's: T8l

Correct Answer :-

« Listening/ g1

8) How is the development of poorers from all the sides is possible only by?/

e ®1 @t iR A faera Saa frad g wwia g2
1. Extension education/ fa¥dR TR

2. More money supply/ 3% ﬂ'rl'l'qﬁ-f

3. Making strong ruler/ 3P Holdd M dATAT

4. Not known/3{JTd

Correct Answer :-

. Extension education/ fa%R e



The plan of work arranged chronologically is called i/ PICIHHATIAR
AU HTd AT B Fed &

1. Calendar of work/ HT palex

2. Programme projection/ HAHH QEHJH
3. Calendar of activities/ Tfafafd FaieR

4. None of these/‘s{‘l‘ﬁ@fﬂﬁ'&fﬂ%’f

Correct Answer :-

« Calendar of work/ P HaieR

10) An understanding of the role of the local leader : /R A4t/

Aqcaddl @t YRIeT B GuH e

1. Is of least importance for local leaders/®JF1g ﬁﬂTSﬁ/ﬁm\%ﬁ & o 9o & H Hgd
DI Il

2. It very essential for local leaders/ RIHIT AdT3fl/~qamdisl & [T Igd IS Bial
3. Has no concern with the local leaders/ P-IFﬂ'qﬁﬁTSﬁ/%cddOdTGﬁ T Bl WIBR 8! I@d!
4. None of above/3udad H ¥ &3 gl

Correct Answer :-

« It very essential for local leaders/ R Adrsfl/Aqadmarsi & fow 9gd Smawa® gidt

11) What was “India’s food crisis and steps to meet it"?/ “'&"ﬁﬂlﬁf L&) ib‘l%'ﬁm
Us ®W ¢ Hie ge” & 41/d?

1. A book on food situation in India/YRd & Tre TRRRAUfG R fordt Wi T gJideh
2. Report of Ford Foundation Team/ BIs BI3STH &d P Uh Rard
3. Report related to Poverty in India/ YRd ® fAear § gw&afa we Rad

4. A formula to solve food problem in India/ HRd CARCIE RS EES]] B8d H B Uh A

Correct Answer :-

« Report of Ford Foundation Team/ HIS BISSRH &d di Th RUIe

12) Small groups include:/ @g Jqel | M &:

1.  ‘dyad’ and ‘triad’/‘Sifgai’ R ‘fawfsai
2. Racial groups and political groups/ AT w@ﬂﬁlﬁﬁ?w



3. Other small groups/ 30 dY 9Hg

4. Political groups and ‘triad’/ IeHfa® 94z U4 ‘fasfsai’
Choose the correct answer:/ ﬂ'epf IR ﬂe[

1.2 and 3/2 3R 3

2.1and 2/1 3R 2

3.1and 3/1 3R 3

4.3and 4/ 3 3R 4

Correct Answer :-

« 1and 3/138R3

13) From where does the National Development Council gets its

administration support?/ P10 faera ufvug = y=mafe garT ei @ e e?
1. Parliament/ ¥9¢

2. Planning commission/ e ST

3. Finance commission/ for smanT

4. Union cabinet/&1g HAHSd

Correct Answer :-

« Planning commission/ Hifq sman

14) The intensive area programme (IAAP) was started during mid term
appraisal of : /999 Y &7 HrAPHH (IAAP) & ATl geaied &
R IR T T o

1. Second five-year plan/ U<l Gaqylg Ao
2. Third five-year plan/ d9<t taasfg gy
3. Fourth five-year plan/ T Taaufg deHT
4. Fifth five-year plan/dradl dgayfa aremr

Correct Answer :-

« Third five-year plan/ Ss} Ueasfg greiT

15) Mass communication in India-the book was written by :/HH

PRIBIAE 3 SISAT ATHS AP A ferdt A
1. K.J.Kumar/ &. 3. $UR



2. Ram mohan/ J¥ HIgA
3. Patil/ Trfed

4. Kuppusamy/ Wﬂiﬁ

Correct Answer :-

. K.J.Kumar/ &. 9. PHR

16) What are extension workers? /fadR oHf «a1 82
1. Lay leaders/ 3fdiférd Sig@dal (o dex)

2. Professional leaders/ URIaR ﬁ?jc_cﬂv_cﬁ

3. Autocratic leaders/ PRSI AdT

4. None of above/B’CPjaﬁ 7Y ﬁ'sc el

Correct Answer :-

» Professional Ieaders/a"-‘ﬁfﬂﬁ?ﬁiwcﬂC

17) The “special interest groups” falls under:/ “faRiy '\‘»‘ﬁlﬂ'{e’" &
Sl 3Td &

1. The primary group/ PIIEER NG
2. The secondary group/ fgdias 998
3. Voluntary group/ ¥ad3d! 948

4. Tertiary group/daids TUg

Correct Answer :-

« The secondary group/ fdide g

18) The approach to organizational change where decision are made by a
centralized power position, other being required to obey the decision:/

WISATHS Ui¥ad- &1 98 Ugfa Raw te $kiipa 91 ug g1 fHofy o wimat € 8ik o=y
@1 fofa &1 ures &= giaT @

1. Authoritative approach/ SMYBTRS Tgfd
2. Participatory approach/ eyt ugfa

3. Pro-active approach/ 3Udfehd Ugfd

4. Active approach/ gfehg ggfa

Correct Answer :-



« Authoritative approach/ 3MY®HTR® Tgfd

19) On whose birthday community development programme was started in

india?/ HRd ¥ GYerd fawTa Srdwy &1 IR™ fFad SwafeT R foear wm ur?
1. Netaji subash Chandra Bose/ WQWWW

2. Pandit Jawaharlal Nehru/ Gf$d SaT83ard Ag&
3. Mahatma Gandhi/ HgTET T
4. Sardar Patel/9ReR Ucd

Correct Answer :-
« Mahatma Gandhi/ HgTeT Tt

20) Which creates sympathy in and fosters co-operation among members?/

T8 @ ®H, el # gy I Sar @ iR STRft JguhT &) 9erar T 82
1. Unity/ U dl
2. We-feeling/ &H &1 Tgd

3. Common feeling/ ITHT Ugd™

4. Integrity/IqAfIST

Correct Answer :-

« We-feeling/ gH &I Tgd

21) is a traditional mode of mass communication:/ , S TER Bt

g farem &:

1. Tv/ &t

2. Newspaper/JH[RUA
3. Radio/ &l

4. Internet/ 3c3c

Correct Answer :-

« Newspaper/JHRRUA

22) The hallmark of leadership is i/ ﬁﬂc_q' P P g
1. Achievement of goals of an organization/ T3+ & Al Dt U

2. Settlement of disputes in an organization/ 34 & faarel &1 MueH



3. Capacity to influence others to follow/ §¥I€’ Gal STTHRT] %ﬂ qYTFAd &= D1 &l

4. Maintaining the core values of organization an its distinctive identity/I3- &1 b
A3 D1 I faRY UgaH & U H HIH &1

Correct Answer :-

« Capacity to influence others to follow/ gﬂi’ Gal ST %ﬂ qYTFAd &= DT &l

23) Government of India set up planning commission in 1/ HRd IRPIR

= IS AT B RITYAT # @t &t
1. 1947
2. 1950
3.1952
4.1995

Correct Answer :-

« 1950

24) The process of influencing people towards achieving a common goal is

called :%wmawsmmﬁaﬁﬁmﬁﬁﬁaﬁmmﬁaﬁm
Pgard!

1. Communication/ IdR
2. Development/ fa®rg

3. Leader ship/ ﬁ?jc_d
4. Sponsorship/ IS

Correct Answer :-

« Leader ship/ Aq@

25) Communication media facilitates :/ AR ATHH Cal qm™H
AT B

1. Development of speech/ qmoft & f[aem
2. Skills/ BTl

3. Teaching and training/ {49 Td HIRI&0T
4. All of the above/GCPjTﬂ ekt

Correct Answer :-



« Teaching and training/ 31&T9 Ud UfRrefor

26) The unit taken for the purpose of identification of IRDP beneficiaries is:/

IRDP arHTRMAY ¥ uge= & 3229 A <t Tt 518 @
1. Individual/ AT

2. Family/tlﬁ_d'l?

3. ViIIage/TﬁH

4, Community/dHard

Correct Answer :-

« Family/ TRaR

27) Firka development scheme was started by madras government in

e e aeT ASN AR GRT ¥ 3R &1 7t &
1.1942
2. 1946
3.1952

4. 1957

Correct Answer :-

« 1946

28) 4 I's of communication are:/ ¥dR *» 9dR GI'I'§ %'-

1. Informal, instruction, influence and integration/ ShIHd, IRCARM, SUAIY TS SETUIRM
(3FETie, FERT, THTT T TahiahRn)

2. Intermediation, information, interest and instruction/ SeXHISTIA, SHIHTH, S, TS
TR (HERT, a1, 3T wd fd=m)

3. Information, instruction, influence and |ntegrat|on/37qv‘l'ﬁf‘\7l:[ A, WQ@
SERM (T, 41, 4T Td Th 1)

4. Information, intention, influence and instruction/ 3hIATH, )M, IHIIY, TS FCaRM
(=T, A IRY, UG Ud )

Correct Answer :-

. Information, instruction, influence and integration/ IhIHIM, ICARM, THILY TS

SERM (1, FIER1, YT T T hun)



29) Which of the following adopters have more opinion leadership in the

society 2/ 310 & fora amdh (TSTER) & e wHTS # 3ifte 7 A giaT 82
1. Innovators/ ECECRED

2. Early majority/3RIBf&% IgHdiRI

3. Early adopters/ 3RB&® UG

4. Late majority/ U IgHII

Correct Answer :-

« Early adopters/ 3Rf®® Urat

30) The first model of communication was developed by :/ TOR &
Ugd Hisd 3T faord = foar ur:

1. Aristotle/3IR¥q

2. Berlo/dar

3. Shannon and Weaver/‘@FF[ TUT AR
4. Lasswell/dgad

Correct Answer :-

« Aristotle/3R¥]

31) One of the basic element in the leadership relationship is 4 ﬁ?!c_q'
T & ATYRYT gehl # A Th 8 :

1. Task/ Gap

2. Faith/ faymg

3. Motivation/ RO
4. None of these/ s‘rn?r q ﬁ%‘ ol

Correct Answer :-
« Faith/ faym™a
32) Horizontal Mobility denotes:/ &fast nfa=fedr &1 3 8:

1. A movement of an individual/ people/ groups from one status to another/ f&dt

fda/ Afdadl/ THg! &1 U REd (Kew) ¥ gl ofad (ew) o o

2. A change in position without the change in status/ HGER (%ECH) T ggad o fo1 Ug
(Trei=RM) H Sgard




3. Social descendance or social failure/ ITMHINIG Ud- a1 GTHISIG B

4. Social ascendance in the status of individuals groups/3afaadl/Tqg! &1 R &
TS ST

Correct Answer :-

« A change in position without the change in status/ HGER (%Ec{-l) T ggad & foA1 Ug
(UISIRH) H dgand

33) From where is the journal of Rural Development published?/ arHivr fasre
SRAd PT BT Hel A gaT 82

1. MAMAGE
2. NAARM
3. NIRD

4. NCAP

Correct Answer :-

« NIRD

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wryde yeo: 3u@ R f3d T agfawadt uxei o w8t
fawea &1 a7 I

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

TR a1 RgAHIE (A 3 sHepar |, e ord 8 arsm sar), s #
U W11 918 Hbdl MR Jbafagr & ot & Iy & areay A Uh 9 a1 9YE I g
Id 91 g a@ difed 3 Ugam & $d & $ed 8| Tg qifod RN & aTgd BT BT Ham



TR & 316 Ued § Wlid, e, ThisH, url, Sdied, uraewdat, ufagfly ved < izg
Hisd &1 fapTg & ardl # IR RIgiaer Fars W94, faear a1 Th1H ud A9 i1 au
3= IS A1 YUTA TR TH WAVl Siia-T HI @ o g8 gHIR -G Higg A &f
IR &1 A GUSH TF 399 o # 0 §97a1 B IR # Hred (THIfEM) iR fawre
(SRfET) Fizra WA &1 Fred P & a9 T A@H, T4 fadmisd s &1 3 a@-
T4 44Ul ¥ g1 IR TP a1 ufspar g foraw foamy &1 sme=-ueH far sirar §; afe 39
THARWT R a1 oY, @Y Smer-Uerq v ordl @ e garn 3ud gidl 8 Ifderw =R, o
Ty # Jaory (Saaudc sgfeer) fida faygs & 9 & auf § 99 9UR sremgq &
TP &F & & A IUI UTI 3T 9 TRMAT, 3rpia, iR efamoft smfyer & 3wr sraa wad=,
STeAfrRar ud TefRugar & fieR W &k ¢ 3@ 1

Communicare means to:/ Wﬁw &1 Y &
1. Speak/ T

2. Share/ HI dRAT

3. Produce/ JdTGd BT

4, Profit/ H-Th1
Correct Answer :-

« Share/ Tl dRAT

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd e # aFyd® TeH: 39 4 33 T sgfawed! uxai & 98t
fawea &1 a7 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

AR a1 RgAeIE (A 3 separ |, e ord 8 arsm svar), s |
U AT 918 bdl MR Jdhafagd & ot & IuahT & areay A Uh I a1 9YE g
Id 91 g a@ difed 3 Ugam & $d & $ed 8| Tg qifodd RN & aTgd BT BT Hal
BHIR & 313 UeH § WA, Waw, Teied, A, e, uraeal, ufrgfy wd g isw
Aisd &1 fapra 34 aral § R Rigiaer wals 94, AR a7 Tp1a ud Aae BT ad



3= A &1 FUTE JAR TH Aedyul Sita HIRa g o gH g9 36-RIE Hielg @i &)
ATAR & A JHIA TE 379 Fo § Jud a41a1 B IER # HieT (TTHEM) iR famrs
(SHIFET) Frwrd Wia 81 Fred P € 99 Td aRaH, 947 fapisd s o1 o aw
TG 4qUr § 31 HUR TP ST ufshar 8 orad faury &1 sirer-verq foar wirar §; afe 51
THARWBT FR {1 oY, af S-S & Srar @ forrd garzm 39+ gl 8 Iffe W=, ar
" § g (STauiic FRIAGI) fEdia fygs & 9 F ool & o9 TOR e &
TP 87 & U H IURT Y11 39 99 T[T, 3rblen, iR <femh sifver & 31 erya wadsr,
SreAfraT ud efRueE ¥ IfteR W) Wik 2 7@ 3

SOURCE — MESSAGE — ENCODING — CHANNEL — DECODING — RECEIVER —

FEEDBACK — CONTEXT. This model was developed by:/Jd — Heq — BT

(TTPIFET) — At (A9) — faPreT (SHET) - urasdl - ufayfy - g | 78 Afsa
= fawiaa far ar:

1. Wilbur Lang Schramm/ faqer 7 T
2. Robert Craig/ R

3. Claude Shannon/ 38 ]

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad Tt

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e & wryde yee: 9@ AR 3 M sgfaw«dt ux=i & W&t
fameu o1 999 S

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

AR a1 RS IE (Afe 3 sgear |, e ord g arsm swar), s #
U AT 918 Hbdl MR Jbafagrd & ot & IuaT & I1eay A Uh 9 a1 9YE I g
I a1 g aF difed o UgaH & $d $ $ad 8| Ig qifod W & aTgd BT B Hdl
T IUAR & 3113 UeH § Wd, e, TIhIsH, "ni, Sidpied, uraddl, ufayfy vd < izsa
Aisd &1 fIwTd F3A aral § TR NsiaeR Fars A4, iR A1 %p ud e 71 au



3= A &1 FUTS JAR TH AEdyul Sita HIRE g ot gH g9 36-RIE Hielg @i &)
TR & A JHIH TE 370 Fo & Jud a41a1 8 IER # HsT (THIEM) iR famis
(SHIFET) Pz Wia 81 Fred P € 99 Td aRaH, 947 fapisd s o1 o aa
TG 4qUr § 31 HUR TP ST ufshar 8 orad faury &1 sirer-verq foar wirar §; afe 51
THARBT B U1 91T, oY 3Mer-UeH $& ST ¢ forad garen 3«7 gl @ Ifaery I=r, ar
" § g (STauiic FRIAGI) fEdia fygs & 9 F ool & o9 TOR e &
TP 87 & U H IURT Y11 39 99 T[T, 3rblen, iR <femh sifver & 31 erya wadsr,
SreAfraT ud efRueE ¥ IfteR W) Wik 2 7@ 3

Development Communication emerged as a field of:/ oo 9uaR & &
& U H U

1. Two-way communication/ GIdRbT IR

2. Intra-personal communication/ 3Iddfaad TaR
3. Mass communication/ S9 IdR

4. All of the above/ B'Cl'ﬁaﬂ gt

Correct Answer :-

« Mass communication/ S IR

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa weiz &1 wFyde yess 39@ i @4 T sgfawed u=-i & w&t
fawe &1 799 B3I

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

TR a1y eRgfAeeE (At 3 sgdar |, e o 8 arsm sAr), o #
IS 9 aTdl Hbdl 3R Aharaw & faal & SughT & ATead A T 9 a1 e 4 gan
I g1 g aF difed 3 ugaq & $d &) Fed 3| g qifod JSRN P aTgd BT BTd Hedl
T IUAR & 3113 Ued § Wd, TR, TIdIsH, Ani, Sidrsd, urawal, ufayfy vd < isa
Aisd &1 e o34 aral # ¥aR Rigiaer wrs 9, faeay a7 wh1H Td e BT aur
3= A &1 FUTS JAR TH Aedyul Sita- HIRE g ot gH g9 36-RIE Hielg @i &)



IR &1 A GUSH TF 399 G+ # 90 g97a1 B IR ° Hred (THIfEM) iR fawred
(SRfET) Fizra WA &1 Fred P & a9 T AGH, U1 fapis s 1 3 a@
Td 44Ul ¥ g1 IR TP ST ufspar g foraw foamy &1 sme-ueH fbar siran §; afe 39
THARWT R a1 oY, @Y SMmerH-Uerq v ordl @ e garn 3ud gidl 8 Ifderw =R, a1
U ¥ Jaoiy (Saaudc sgfer) fda faygs & 9 & auf § o9 9UR sreaaq &
TP &9 & U A IUI UTI 3T 9 UM, 3rpia, iR efaoft sifyeTr & 3wr sra_ wad=,
STeAfRar ud TefRugEr & fierR W &k ¢ 37 1

communication prevents from exchange of ideas./ IR, faaRY
PT 3MeH-Ue AP 3T &

1. Mass communication/ 99 IdR
2. One-way communication/ T dthl YR
3. Non-verbal communication/ RN TR

4. Verbal communication/¥Mfeg® AR

Correct Answer :-

« One-way communication/ T 3%l AR

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 3@ AR R M sgfaw«dt uxi & W&t
fawe &1 999 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-world
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

AR a1 RS (Afe 3 sear |, e ord g arsm sar), s #
U AT+ a1 Hbdl MR Jbafaqrd & ol & ST & I1eay A Uh 9 a1 99E I oy
I a1 g aF difed 3 UgaH & $d $I $ed 8| Ig Tifodd WM & aTgd BT BT Hal
IR F TS e § W, W, TADIsH, UNl, rdred, Wrwwal, ufayfy vd g<iza
Aisd &1 fIwTd F3A aral § TR NsideR Fars A4, IR A1 %p ud e 71 au
3= TFE A1 gUTA JER TP gAYl Sita- BRI @ &l g8 g9 -G Higg @ &f
AT & A JHIH TE 398 Fo+ # Jud g97a1 B IAR # BeT (TIHIET) iR famis
(SRIfET) Fizrd WA &1 Fred P & a9 U9 A@H, U1 fapisd s &1 Y a@-



TG 4auT A 21 JIR TP ravT ufspar g A foary &1 eeq-ueH forar wirar §; afe 59
THARBT B U1 91T, oY 3MerH-UeH $& ST ¢ forad garen 3«7 gl 8 Ifaery I=r, ar
AU ¥ Sa1v (Saaudc FRIAHRA) fedta faygs & a1 & auf & o9 ¥R sreaq &
TP &9 & U A IUI UTI 3T G99 UM, rpia, iR efamft safyer & 31 sra s,
SreAferaT ud efRueET ¥ IftepR W Wik 2 7@ 3

Encoding skills involves:/ CAEE| (Eﬂﬂ'ﬂ%ﬂ) Pzl A Qlehlﬁ%
1. Listening/ 4dur

2. Reading/ Ue-l

3. Writing/ (EGE

4. Speaking/ drdqd

Choose the correct answer/dg! ST iﬁ

1.1 and 4/1 3R 4

2.2 and 3/2 3R 3

3.3 and 4/3 3R 4

4.1 and 2/1 3R 2

Correct Answer :-

. 3and4/3SﬁT4

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz &1 wFyde ygs 9@ i &4 T sgfawed u=x-i & w&t
fawe &1 799 B

Communication (from Latin communicare, meaning "to share" is the act of
conveying intended meanings from one entity or group to another through
the use of mutually understood signs and semiotic rules. It acts as a carrier
of the intended messages. The eight elements of communication are source,
message, encoding, channel, decoding, receiver, feedback and context. This
model was developed by communication theorists Claude Shannon, Wilbur
Lang Schramm and Robert Craig, among others. Effective communication is
an important life skill that enables us to better understand and connect with
the people around us. Communication contains encoding and decoding skills
where encoding skills are speaking and writing, decoding skills refers to
writing and listening. Communication is a two-way process that involves the
exchange of ideas; if made one-way, the exchange is prevented and this
leads to frustration. Development Communication or simply Devcom
emerged as a field of mass communication studies during the post-worid
war II years when the countries of Asia, Africa and South America were
asserting their right to independence, self-reliance and non-alignment./

AR a1y RgfAeeE (Afe 3 sgfdar |, e ord 8 arsm sar), s #
I 9 aTdl Hbdl MR Aharaw & faal & SughT & ATead I T I a1 UG 4 gan



I g1 GYE aF qifesd 3 ugaq & $7 &) Fed 3| g qifed WS P aTgd BT BTA Hedl
T IUAR & 313 Ued § Wd, "R, TidIsH, Ani, Sidpied, urawal, ufayfy vd < isa
Hisd P faPprg &1 aral # YR Rgider gars 94, faear a7 ThTH T e T auT
3= e A1 gUTE WER TP AEQYUl Sita- PR 8 &l g8 9K -6 Hivg @ &t
TR & A JAIH TE 379 Fo & Jud a47a1 B IER # HieT (THIET) iR famis
(SHIfET) Pz wfra 81 Fred P € 99 U9 aaH, 947 fadisd s o1 oY aw
Td 4auT ¥ 81 IR TP ravT ufspar g Rrgd foary &1 eeq-veH forar wirar §; afe 59
THaRBT B AT §I1Y, dY STE-UHH o SITdT & Fora garen I« gt & Ifaery |, ar
" § g (STauiic FRIAGIA) fEdia fAygs & 9 F ol & o9 TOR e &
TP 87 & U H IURT Y11 39 99Y T[T, rblen, iR <femh sifver & 31 erya wadsr,
SreAfRar Td efRueEr & iR W Wik § W) A

It acts as a carrier of intended messages:/dg gifesd ﬁﬂ'&’ﬁ & dlgd bl T BT

e

1. Transmission/SHIH0]

2. Channel/HT&IH

3. Sender/U¥d

4. Feedback/®ies® (TAHATM)

Correct Answer :-

e Channel/HT&IH

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa Tz &1 wFyde ygos 9@ - @4 T sgfawed u=-i & w&t
fawe &1 799 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,



governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t B Aratfis ufyurar 981 8, FAfe "ICT & wnfira sraurony, faftrt ok srgwah
Y AT & Fad faera o @ €1 "yar & fiaw, gut 7 Te ICT uergwd werH fea
o1 Fora® uergeH & Tft TRl H "Ue TR BT AT AT, 3R 98 09 o1 fr 3 9t gur &
RIMFTRU 3R fafiT PR & sAacii-e AeawdT ard TaR) & JIH 9914 arelt
wrenfifeal @ TR dimad 2012 #, Jga SETad T SRR i 5 fafewr faamaay &
ICT &1 UGN 9= H feam 1 A1y, "« 3u1 9gd R ToRTES 4d snapfa &=
forg 3", SR af 2014 & Wy wreTTAl A FEYET U FT YANT IRV FR T F S
yregTat ¥ HrgeR YR & Site 91 &) ufafafiad ovar 81 21 feawr, 2001 o Iga
Y HETHYT A YPHed 56/ 183 B rJHITed fpar fora# ol & a1 AT & ATHA HIS[G
SR 3R Aol R == #1 & foe fay = Jwe Rer gWed (9@ Ife i g
P IHIHE TS, (WSIS)) maferd &3 &1 IwYA far mar 411 1cT ) fay & vde
AT YRY HTT 7 Hara 3R fedp & g, "o 2015 37 @Y« Iy Wewared! fawra
@sdl (MDG) Pt Uity #1 THy-diaT & 9 W af 2000 # Af¥y® Agasdl weqd g€ A1
"Il UF SOR et Rien 9@ ardifie ugy, Rren § wwrar, quiasr-gad siftema
TG 3ATIH Pt WSTAL, EATIR] & URIaR IRy au1 i gaf fRiem yawe, e wd
T § GRTEE & God 81 gAwR) e § 1CT &Y gerar 33 ¥ i ue gHudarard! v
TYP YHI U-TaT B

ICT has no definition:/ ICT aﬂﬁ%_uﬁwqﬁ%
1. Unique/ sfgdia

2. Universal/Smaffie®

3. Definite/ fAf&d

4. None of these/ 374 ¥ ®Is g1

Correct Answer :-

. Universal/‘v'lTElf%

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa weiz & wFyde g 9@ i &4 T sgfawed u=-i & w&t
fawey &1 999 B3|

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the



opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t B ATaifds gfeUTaT 981 8, TP "ICT | Nfia sraurony, faftmi ok srgwahT
U AT 8 Fad faer &% 38 81 "yaT & fig, Jut 3 U ICT Ugrgwy e faar
o foraw uergewH & ft TRl H "Ue TR BT A1 o1, R s 0 uT fr a i gur &
RITFTRU 3R fafiT UpR & saacii-e AT ard TR & 9 9914 areit
weafhifeal @ TwfRe d1mad 2012 7, e Tmad A sz ot e fafewr faemeat o
ICT &1 IUUNT 9 H fear o1 e, "wife 3U_ 9gd R ToRTEs 4d sneffa &=
forg 3, v adf 2014 ¥ I UreTTal A FEYfET g BT WA IR™ R fgar 7 &
reg=at # HrgeR R & S 9 @ ufafafya $ar 81 21 fiawr, 2001 9 Iy
Y HETHHT A §PHed 56/183 Fi srHITed fpar Fod o<l & a1 TS & ATHA Hiv[g
AR 3R FHifaal W ==l F1 & fore fay Ju=n gure Rrer wieq (s afie siF g
SPTHIM AHTadl, (WSIS)) Smafora @ &1 qudq foear mar o1 ICT &t fay & uds
TIN ARG YT 9 o R fed™ & fig, "ad 2015 37wy Y Wl fdord
@&dl (MDG) i Uity 3t Jag-daT g 59 wR ¥ 2000 & afy® Aqasdl 9gad gv A1
" Td AR MRt Rien a@ ardyfire uga, e & guran, quiear-gad it
TG AATYH Pt UTA, ATIR] & URIaR IRy a1 ifus gaf fRiem ya=e, e wd
YT A ANTETH € Tahdl g1 gAvap! g ® ICT &1 9erar 37 & i v gwIrarard) wd
AT EFHIVT SYTaT 2|

On 2001, the United Nations General Assembly approved Resolution
56/183 endorsing the holding of the World Summit on the Information
Society (WSIS):/ 2001 I, TYFT AP WERIHT 3 HHe 56/183 DI SrqHIfed fpar
orad fay geaT JuTe fR’eR /e (wsIs) P BT g fomar T T

1. 7 June/7 91
2. 21 December/21 fgdaR

3. 25 December/25 fegsR
4. None of these/ sﬂﬁ q aﬂ's‘ 'TE?f

Correct Answer :-

« 21 December/21 fgOeR

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 3u@ AR fd M sgfaw«dt yx=i o w8t
fawea &1 9 I

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain



some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t #i5 qratfie ufyurar 98 8, Ffe "1cT & =nfira sraurony, faftrt s srguat
YT ST &1 Fad fIsr &= @ §1 "ydT & fig, Jui 5 T ICT Uerswd UerH foar
o1 o eI H & It TRl # "Ue WR &1 9IS T, 3R 98 09 o1 fr 3 gt e &
RIMFTRUT 3R fAfia UpR & sAeei=e AERAT ard TAR] S I 991 aret
wenfifea & TR dirad 2012 #, Jga TEmad A =T it f fafewr faamaay #
ICT $T SUUNT = HX a1 9T A1feY, "Hiifh I I8 IR APRIAD Y rwid #
forg ", ok af 2014 F W yreTTaf A FrYfET W BT WRT IRV IR T B A
gt # Hrger R & wie 9 & ufafafyd sar 21 21 feawr, 2001 o Iga
Y HEHT A HPhed 56/183 Bi srHIfed fpar e oet & a1 I9T9 & A6 Hiv[g
AR} SR gl W =t v & e fay gamr gure Rrer awied (9@ Ifie e[ g
P IHRM HI9Tadl, (WSIS)) maiferd #3 &1 IuYA far mar 411 1cT &) fay & v
3T G T a& Hear R feem & g, "ad 2015 37 Wga Uy G o™
@edl (MDG) &t Wity & wwa-3fur 8 9 R o 2000 # af¥w Aqawal Ggaa gu A1
" Td AR Wt Rien a@ ardifie uga, Ren § guran, quer-gad it
TG 3ATYT B Urafl, SreaTusd! & URaR faer aur sifte ger fRigm ya=u=, g+ vd
U # GEM & et @1 TR g # ICT P! agrar 37 & e v gwudrard
TS HOT Sry=TaT B

provided an ICT hierarchy:/ FICT YardshH Uar+d fear
1. Schemmer/ &R
2. Leagens/ =T
3. Maciver/ A&TgaR
4. Zuppo/gal

Correct Answer :-

- Zuppo/gdl



10) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s # aFyd® TeH: 39 4 3 T sglawed! uxai & 98t
fawea &1 a7 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGSs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t #i3 qratfee ufyurar 98 8, Ffe "1cT & =nfira sraurony, faftrt s srgwat
YT IS &1 Fad fIsra &= @ §1 "y & fig, Jui 5 T ICT Uered U foar
T o uergerd & It TRl # "Ue TR &1 9IS AT, 3R 98 09 ot fh 3wt e &
RIMFTRT 3R fAfia UpR & sAaei-e AHRAT ard TAR] S Y 91 aret
wrenfifea @ TR dirad 2012 #, Jga TETEd A =i i o fafewr faamaay #
ICT HT SUUNT 9= $R a1 AT A1eY, "l ITA I8 AN APRIAD Y rwid #
forg ", ok af 2014 F Wty yreTTaf A FrEYfET W BT WRT IRV IR T B
reg=at # HrgeR URRT & wie 9 & ufafafyd svar 21 21 feawr, 2001 o Iga
Y HETHHT A Py 56/183 Fi srHIfed fpar fod oet & a1 T9T9 & A6 Hiv[g
AR} SR gl W =l e & e fay gamr gure Rrer awied (9@ I e[ g
P IHRM HI9Tadl, (WSIS)) maiferd #3 &1 IuYd far mar 411 1cT &) fay & v
3T NG T a& Ha R feem & g, "ad 2015 37 Wy« Uy G o™
@eal (MDG) &t Uity &) wwa-3fur 8 9 R o 2000 # 3w Aqawal Ggaa gu A1
"G Td AR Wt Riem a@ ardifie uga, Ren § guran, quer-gad it
TG S(EATUA DI UGN, AATUH| & URaR fadra aur if¥ew gar fRigm ya=m, I @
T # GEM & et 81 TR g # ICT $! agrar 37 & e v gwudrard @
TS TFHIOT STATaT B

To help anchor and expand ICT to every habitable part of the world, "

is the deadline for achievements of the UN Millennium Development Goals
(MDGs), which global leaders agreed upon in the year 2000.":/ ICT PIfay s
TS AR Y U 9% oM 3R feem & g, "ad S HYEd WY AevATa!
faora @sal (MDG) Pt Wity F Twy-TdiuT § 9 W af 2000 # Ay Agaswal Gedd gL
"



1. 2011
2.2013
3.2015

4, 2017

Correct Answer :-

« 2015

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wryde yeo: 3u@ R f3d T agfawadt uxei o w8t
faweu 1999 H31

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations", and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'’
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT &1 SIS gratfi® ufvyrar 781 8, TP "I1CT & fire saurony, faftmi iR srgwi
T T 8 Fad faerT a2 38 81 "aT & fig, Jut 7 U ICT Ugrgwd e fhar
o1 o uergepH & It Wl # "Ue R &1 9IS T, 3R 98 09 o1 fp 3 gt e &
RITFT-RU 3R AT UpR & saaei-e AT ard TR & a9 99 areit
wenfifea & TR dirad 2012 #, Fga AT A =i @ o fafewr faamaay #
ICT $T SUUNT 9= $ a1 9T 913, "Hiifeh IT 98§ IR APRIAD Y wid H
forg 3, ok af 2014 A W wreTTAl A FEGET s FT YA IRV FR T F S
gt # HrgeR R & we 9 & ufafafyd $ar 21 21 feawr, 2001 o Iy
Y HETHHT A §Phed 56/183 Fi srHIfed fpar ford oet & a1 T9T9 & ATHA Hiv[g
AR} SR gl W =t e & e fay gamr gure Rrer awied (9@ Ife e[ g
P IHRM HI9Tadl, (WSIS)) maiferd &3 &1 IuYA far mar 411 1cT &) fay & v
T ARG U a& Ha R feem & g, "ad 2015 37 Wy« Uy G o™
@edl (MDG) &t Uity & wwa-fuT 8 9 W o 2000 # ¥y Aqaeal Ggaa gu A1
" Td "R Wt Rien @ ardwfie uga, Ren § guran, quiear-gad iftem



T4 3eATYH P USTAN, eATUD] & URIGR fIpT aUr 3rfss <ef fRrem ya=u=, Im94 vd
R ® AR1ETH ¢ ! 81 gAwn! e & ICT $1 gerar 34 & fow v gwEmard! v
TP TSI TaT 2l

takes a holistic and comprehensive approach to promoting ICT in

education:/ fRrem # 1CT &1 9@ ¢4 & o v GHIdTard! e saruss eyl
3T &:

1. United Nations/ {gad Y
2. UNESCO/ g%t

3. UNICEF/ g%
4. None of these/ 371"3[ q Eﬁ'sc T8l

Correct Answer :-

« UNESCO/ g%l

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e & wryde yee: 3u@ AR R M sgfaw«dt uz=i & w8t
fawea &1 9 B

ICT has no universal definition, as "the concepts, methods and applications
involved in ICT are constantly evolving on an almost daily basis." For clarity,
Zuppo provided an ICT hierarchy where all levels of the hierarchy "contain
some degree of commonality in that they are related to technologies that
facilitate the transfer of information and various types of electronically
mediated communications”. In 2012, the Royal Society recommended that
ICT should no longer be used in British schools "as it has attracted too many
negative connotations”, and with effect from 2014 the National Curriculum
uses the word computing, which reflects the addition of computer
programming into the curriculum. On 21 December 2001, the United Nations
General Assembly approved Resolution 56/183, endorsing the holding of the
World Summit on the Information Society (WSIS) to discuss the
opportunities and challenges facing today's information society. To help
anchor and expand ICT to every habitable part of the world, "2015 is the
deadline for achievements of the UN Millennium Development Goals (MDGs),
which global leaders agreed upon in the year 2000." Information and
Communication Technology can contribute to universal access to education,
equity in education, the delivery of quality learning and teaching, teachers'
professional development and more efficient education management,
governance and administration. UNESCO takes a holistic and comprehensive
approach to promoting ICT in education./

ICT 3t B Iratiis ufyurar 981 8, FAfe "1cT & wnfira sraurony, faftri o srgwa
T AT & Tad e % 38 81 "Wyl & fg, gui 3t ICT uerIwH we fhan
o o dergpH F AN TWRI A "Th TR FT AT AT, SR g W AT fr sl gun &
RITTRU 3R fafia PR & saacif-e AeawydT 9rd TR & JIH 9914 arelt
wrenfifeal @ TR dimad 2012 #, Jga Sarad A o= i o fafewr faamaay &
ICT &1 UGN 9= H fea1 1 A1y, "wifer 3u1 9gd 9N TR 35S snapfa &=



forg 3, ok af 2014 A W wreTTAl A FEGET g BT YA IRV FR T F S
mﬁwm%vﬁ%aﬁaﬁmﬁamél 21 feamar, 2001 & IgT
Y HETHHT A HPhed 56/183 Fi srHIfed fpar e oet & a1 I9Te & ATHA Hivg
AR} SR gl W =t v & e fay gaar gure Rrer awied (9@ I e[ g
SPTHIM AHTadl, (WSIS)) Tfora @ &1 gudH foar war o1 ICT &t fay & uds
3T G T a& Hear R feem & g, "ad 2015 37 Wy Uy G o™
@eal (MDG) &t wifty &) wwa-3ur 8 9 W o 2000 # af¥e Aqawal Ggaa gu A1
" Td HaR Wt Riem a@ ardifie uga, e § guan, quer-gad it
TG ATYT B USraifl, SreaTusd! & URaR faer aur sifes ger fRugm e, g+ vd
T # AEM S et 81 T g # ICT P! agrar 37 & e v gwudrard
TS TFHIOT YT B

From ____ the National Curriculum uses the word computing:/ CL ﬁ,

1. 2010
2.2012
3.2014

4, 2016

Correct Answer :-
« 2014

Topic:- Grad_Child Care and Education

1) The tendency to use one hand in preference to the other is known as:/ Y

# § foeft uep 314 & SUAT &t wrafirear ¢4 Y ugf &1 ... Fe1 wran Bl
1. Dominant hand/ 94TH g1y

2. Auxiliary hand/ 9g1la® §IY

3. Handedness/ &¥d-Urdr=d1

4. Egocentrism/ 3gd s dlRadbisdhdl (NI TH)

Correct Answer :-

o Handedness/ g<d-UTUTIdT

2) Anganwadi workers, Anganwadi helpers, Supervisors, Child Development
Project officer and District Program Officers are the working force of which
among the following organization/Scheme?/ mm GI'ITHE'I@DI
TETaF, Wderd, a1et T ufaer T St wd Rien srdww e, ﬁﬁﬁm
HTS/AT BT riad e 82

1. WHO/ Ssegua3il



2. ICDS/ 3msdisy
3. NIPPCD/ T3S UIdRiS!
4. CARE / HTR (HTU3IRS)

Correct Answer :-

. ICDS/ 3EHsiny

3) Scheme of National Scholarship for Persons with disabilities functions

under:/ mmmﬁﬁw%mmm%l

1. Ministry of Social Justice and Empowerment/ JTHTSIG <a1g Td ST Hare™
2. Ministry of Rural Development/ U0l fadhr HaTe™

3. Department of Education/ fRi&m faymt

4. Department of Disability Affairs/ fqaaiire s faum

Correct Answer :-

« Ministry of Social Justice and Empowerment/ ITHIN® <01 T TR HAT@T

4) Which among the following influences learning?/ Eﬁﬁﬁqmﬁulﬂﬁﬁ
BT 82

1. Feedback/tlﬁl@@ (m)

2. Meaningfulness/ G{ZfCI;UhT

3. Whole and part learning/ qul Td i/ Sifrm
4. All of the above/ ITdad it

Correct Answer :-

« All of the above/?q?iaﬂ“él‘l-ﬂ

5) Which among the following is an important androgen that plays an
important role in male pubertal development?/ [39 @9 fapra d g0 &

BIF-1 TSI TP Tgeayut YT fHumar 82
1. Estrogen/ T&ISH

2. Progestron/ Eﬁ@R:IJ:I

3. Testosterone/ WA

4. All of these/ IWRIad i

Correct Answer :-



« Testosterone/ WA

6) Which among the following is not the objective of pre-school education?/

8 @ B4, gd-femertt e &1 e 78 ¥

1. To develop in the child a good physique, adequate muscular coordination and basic

motor skills/ I T 331 IRRG-T34, A-0RE & yafe dremd Sik SnURYd TS HId
A R BT

2. To develop rote memory in children/ sl § QEIHRF{%WWW

3. To develop emotional maturity by guiding the child to express, understand, accept
and control his feelings and emotions/ S &1 30 TEIN 3R YTGATE Fad B, THIH,
R 3R Fifd & & anfeei g HaATds aRusdr faeRig &

4. To develop aesthetic appreciation in children/ I § Gied TRIe1 &1 fasTg B3

Correct Answer :-

« To develop rote memory in children/ &= & YSTAR Wid T fqHT HIAT

7) National Institute for the Visually Handicapped is situated at: /TI'@TI

RafEIRE_ dREeI
1. New Delhi/ T2t faeaht

2. Kolkata/ ®IdbTdl

3. Hyderabad/ gTaTg

4. Dehradun/ 36‘!@3

Correct Answer :-

« Dehradun/ 36‘!@3

8) The visual acuity of a legal blind person is not more than:/ faft® U ¥ %
faa o =Y feorar ... & it =81 1t 21

1. 20/200
2.20/150
3.20/100
4, 20/70

Correct Answer :-

« 20/200



9) Which among the following are involved in learning to speak?/ CIGEEIECE]
o g0 | B A1 WA gar 82

1. Pronunciation/ 3=

2. Vocabulary building/ Xlsqraett fAHfor
3. Sentence formation/ a1 AT

4. All of the above/ Iujad Tt

Correct Answer :-

« All of the above/B'q'?iaﬂ‘le-ﬁ

10) RTE Act stands for:/ 3RdIS &1 IR A9 &:

1. Right To Education/ I8¢ T TSR (FR1&f &1 3UPR)
2. Reservation To Education/ FReId=M ¢ Toa= (FRigm & amRefon

3. Right To Entertainment/ (3¢ ¢ Uexc-He (RS &1 HUPR)

4. Responsibilities Towards Education/ Wﬁrﬁmm W (e & ufa
ITRaTRA)

Correct Answer :-

« Right To Education/ (3¢ ¢ Tb <M (R1& &7 UDHR)

11) Which scheme provides for accessible and barrier free built-in
infrastructure and transport facilities, supply of books, uniforms and
stationery, specialized learning aids and scholarships for students with

disabilities:/ H-H} TioT rararsii & Wifsa faenfi &t g vd saren-gaa safifta
gf~ard} et vd ufvag gfaurs, wrae!, Turds vd aa—-arrh, fafky srftrmy weras
IUBIUN/ATTI Td BrEgil &7 urae= $vd! 82

1. Scheme of National Scholarship for Persons with Disabilities/ feaite IgTg Bm=ghi
EIEEl

2. Comprehensive Education Scheme for Disabled Children/ faaiT sTae®! 8 U fRian
BISEI]

3. Inclusive Education for the Disabled at Secondary Stage/ fgdia® fa=y ¥ faaivom!
B4 JHTa=h e

4. Rajiv Gandhi Fellowship Scheme/ 3Toiia Tt Sty (GenfRid) domr

Correct Answer :-

. Comprehensive Education Scheme for Disabled Children/ f&eiT dTeieh! 3¢ aTda fRigm



12) Which among the following emphasizes the significance of Nursery

%chool education in India?/ 398 9 ®IH, 4R & TR faemedt fem & Aga W® g &d1

1. The rate of development is so rapid in pre-school years that child can be given

more and more experiences/ ﬁﬁ]’lﬁﬁtﬁ (Eﬁ-?@'_d) auf & fqH™ BT R 31 ool Bicht § [
= B 3fBTRIe 3rgHad fau o goa §

2. There is tremendous wastage and stagnation in India in a Class I and II which can
be prevented through Nursery school education/ HRd & & 1 3R 2 H A aary
T4 TR & Foryent Jepurd Tt faamerdt fR1em & wrend @ &Y o Ivdt 3

3. The provision of Nursery school education is a social and economic necessity as
many mothers go out for work and there is no one to take care of small children at
home./ T3} faermerdt e &1 Urae T QoI wd oifies sawadar § ife dgd It A
HTH TR S8R STl § 3R TR A BIC T=i] b1 SWHTA & ol I 8l S 8

4. All of the above/ Iudad Jaft

Correct Answer :-

« All of the above/ Iudad T+t

13) Hearing impairment can be identified with the help of:/ 4avur &lvrdr ot
UgdT ... B JeTadT | $I o bl gl

1. Snellen chart/ AT e

2. Pure tone audiometry/ Y[ ¥} T

3. Hoover Cane/ §aR §d (&)

4. Orthotic device/ 3T (31T 1 BRI G dTal) T
Correct Answer :-

« Pure tone audiometry/ & TR YAl

14) Which among the following learning involves substitution and

association of one response for another?/ 38 3 {9 SR ¥ T& srferar & R
TR g BT UfaATI Ta Hag fbar wrar 82

1. Trial and Error/ Wad-Ff¢

2. Cognitive learning/ S3HTE® ST (Hifdfea @)

3. Classical conditioning/ FeRUfaf¥d PIRCINE (FATRID A DHIRIT)
4. Operant conditioning/ fohaTIgd U (31U dHaI=f)

Correct Answer :-

« Classical conditioning/ FeRUTIST UTb o (iR el dhaIRI-T)




15) The fertilized ovum is called a:/ fafra srve wifreT @6 ... ﬁﬁ%l
1. Zygote/ JHAS

2. Embryo/ Y{Ur
3. Foetus/ nﬁw&rsg

4. Child/ 9=l

Correct Answer :-

« Zygote/ JHAY

16) ICDS scheme was launched on:/ 3TSIISITH IS ... B AR B WAL At
1. 2nd October, 1975/2 Ha&R, 1975

2. 14th November, 1975/14 9d&R 1975

3. 2nd October, 1983/2 3AdsR, 1983

4. 14th November, 1980/ 14 FdeR 1980

Correct Answer :-

« 2nd October, 1975/2 3HaaR, 1975

17) According to which law of developmental direction, development
proceeds from near to far- outward from the central axis of the body

towards the extremities?/ fawTaTa® fozn & fw fFaw & oguR, Ao it A §*-
ITER B SR, TR & FAT 31ef I FTU-NRY Y ok grar @2

1. Cephalocaudal law/ ¥Y.-q=® (Ahdisieq) a4
2. Proximodistal law/ SHIU-gRIIYEE (iferdifsd) oy
3. Patterned law/ UfaHTGd (Geve) fFod

4. Far- outward Law/ QR-9fgqd! (BR-3M3cars) fad
Correct Answer :-

« Proximodistal law/ IHIU-gIfga (Uifeadifees) g

18) Emotions at early childhood years are specially:/ RS ITegdTed= aul o
YTaTE faRiy =9 9 ... gidt §1

1. Intense/ dig

2. Balanced/ ﬂr_gﬁ*lﬁ



3. Subdued/ H<
4. None of these/ 78 ¥ &g =gl

Correct Answer :-

. Intense/ did

19) Pure tone audiometry is used for identifying children with:/ ... @ Wif$a s=i
P TgaH & T Y5 WR yogarfifa (@R 2 Sifsaradh) 1 Iuah far wmar 21

1. Hearing impairment/%dur &fturdy/aur STfacd
2. Speech impairment/ a1 &ffurdr/are i
3. Learning disabilities/ 3 et riaadrsii

4. Visual impairment/ € eftorar

Correct Answer :-

« Hearing impairment/4aur &lordy/4aur arfer

20) Ecological theory was propounded by:/ Urf¥fRufas fygia &1 ufaure ... gRT
o T AT

1. Vygotsky/ %ﬂﬂa@‘){

2. Piaget/ st

3. Maslow/ Bl

4. Bronfenbrenner/ SiHbAsR

Correct Answer :-

« Bronfenbrenner/ SIWGsR

21) Which among the following term implies the problems of the impaired or
disabled person when interacting with and adapting to their environment?/

T A PI-AT Teg 30 TR & HTY SA=fehdT Hd UG SIPpierd 8id T eforar- e a1
3re7a afeaal P g arelt TSl $ 3R Jobd BT 87

1. Handicap/ fa®aimar

2. Disability/ 3{RUdddl

3. Prosthetics/ $HRHN
4. Orthotics/ ITffea (3T &1 BRI ¢ a1l Tl BT fagm)

Correct Answer :-



« Handicap/ fa@manTdr

22) Which among the following is a type of Neurological impairment?/ ERLE]
$I1, af~atg eftvrdr 1 U UeR 82

1. Cataract/ Hifaariaa

2. Glaucoma;/ el Hifcrm GWTIT)

3. Cerebral Palsy/ THRISH T (IS UTRIT)
4. Arthritis/ 3rRrgfew (faa)

Correct Answer :-

« Cerebral Palsy/ JHARTSHTITT (SRS UTT)

23) While implementing the Juvenile Justice Act, the Central / State
Government and other agencies are guided by which principle of care and

protection of children?/ f&2iR =uma sifferan #! SraifAd #vd THY, 5/ TG WHR
T 3= TSl S=f 9t I@UHTE Ud ¥eT & fop Rygr=at & wrnfeflfa gidt 82

1. Principle of presumption of innocence/ ey 81 &1 IuyrRun &1 Rrgra
2. Principle of dignity and worth/ TTRHI Td Hgd &1 Rigr

3. Principle of best interest/ garad fed &1 g

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Iujad Tt

24) Children who talk either for their own enjoyment or for the pleasure of
associating with anyone who happens to be present and makes no attempt
to exchange ideas are exhibiting which category of speech content?/ o I
1 Y Had WY F 3T & e a1 fipr fpedt ¥Q =afd, ot Sufia «t @ W famRt & fafa
BT HIS YA 1 BT, W TS 61 & A< & oY Sad €, 3 arep fquy-avg o 399 | fpa
ATt PT WexH HT W B &2

1. Egocentric speech/ 3gdi<db dIdp

2. Socialized speech/ FTHISIIghd dlh
3. Bilingualism/ LMK
4. None of the above/ 37H d ®I3 gl

Correct Answer :-

« Egocentric speech/ 3gah{<® dld



25) Schizophrenia is a:/ HAlfacaar (ReNwIf~em T ... 81
1. Neurotic disorder/ df~ieTdrdt fabR

2. Physical disorder/ IRIR® [dHR

3. Psychotic Disorder/ A5t fdeR

4. None of the above/ sﬂﬁ*@raﬁéqﬁ

Correct Answer :-

« Psychotic Disorder/ A-ardl fd®R

26) On hearing a loud sound or getting any kind of a physical shock such as,
when the support from the head is suddenly removed, the baby throws out

her arms and arches her back exhibiting:/ DI a9 wﬁmﬁwm%wm

RS SmaTd T R, 99 RR A TR saEs ger fore oM v, R Sroeft Yot arer &t
3R ft & Harar g 3R U FUR JYS AT 81 98 CRURT

1. Moro reflex/ AR ufaad

2. Babinski reflex/ STfe=b! Ufaad

3. Grasping reflex/ UTe! (A& ufdad
4. Rooting reflex/ ﬂjﬁ?qﬁr (F%‘T) yfaad

Correct Answer :-

« Moro reflex/ AR ufaad

27) Clearing the system of pent-up energy is known as:/ AATG Holl & o B
TP (G HR 3 B Fe1 STd] 8:

1. Emotional Catharsis/ HIgATHSD fad==

2. Emotional balance/ HIGATHD H~]ci-
3. Heightened emotionality/ Jaftfd Gammetesdr

4. Emotionally perturbed/ HTd-Td® &0 ¥ &

Correct Answer :-

« Emotional Catharsis/ HTd-THSD fad=

28) Behaviour in conformity with the moral codes of the social group is

termed as:/ IS TUE B Afae Gfgarst & srqura & agR &t ... el 9141 g

1. Immoral Behaviour/ 3Hfd® (3FIR) IER




2. Moral behaviour/ 3fd® sIdgR
3. Unmoral behaviour/ s (3MHR) 28R
4. Non moral behaviour/ FRfd® @F-AR) IR

Correct Answer :-

« Moral behaviour/ﬁmw

29) In which stage of cognitive development children are capable of using
language and symbolic thinking?/ S3HTE® fa®™ ot 6T rawi1 § g YY1 Td
TdteTars fiaa &1 Suah & ° gud gid 82

1. Sensorimotor/ HaaNTATH® (FTRIHIC)
2. Pre-operational/ qﬁﬂm

3. Concrete operational/ 319 dfhard®

4. Formal operational/ i Sfhares

Correct Answer :-

« Pre-operational/ Jd-Sfehardd

30) A child in pre-school age belongs to the stage of morality by constraint
propounded by:/ fa=Tag-qd 1Y HT S=I HRIY (@THT) F HRUT AfdHdT B Srawit A gt
3, 391 ufaure ... 7 farar uT)

1. Freud/ %igs
2. Kohlberg/ HIceR}
3. Piaget/ s
4. Erikson/ Qﬁﬂ‘r{

Correct Answer :-

« Kohlberg/ CAREUE

31) A child who acquires a hearing loss in the first 2-3 years of life and as a
consequence does not acquire language is known as:/ 39 9 DI T Bl 9P
SiTa & UYH 2-3 Ul § IS YqUT &A1 TH 8 B! 8 3R aunya: 98 HIuTSiH T8l a2
TPT 8?2

1. Speech impaired/ dT%-Tifa STfed
2. Deaf/aﬁ?
3. Hard of hearing/ - § &8s § Wf$d / Sa1 Y- arer



4. None of the above/ Eﬁ@ffﬁgﬂff

Correct Answer :-

. Deaf/sftR
32) CARE stands for is:/ &% (HT3ARE) T QT A 3:
1. Cooperative of Always Rendering in Emergencies/ ®ITIRICT 3T 3ffeiael ISR 37

THAROIITS
2. Consulting Agency for Relief Everywhere/ BTt oIl Bix Rl THIdaR
3. Cooperative for Assistance and Relief Everywhere/ ®I3TIRfed BIR 3R U8 Rellw

TaRIdWR
4. Consulting Agency for Recreation to Everyone/ FHyfeeT Toial Wik fh TR ‘gqaﬂa:r

Correct Answer :-

« Cooperative for Assistance and Relief Everywhere/ PI3Ifca B R T8 Ralw
TataR

33) Which among the following is a HIV prevention program for children?/

T T DI 91 9| DT b T3S dl ABUTH BRIHH 82
1. Prevention of mother-to-child transmission/ Wﬁﬁ]‘ﬂﬂwﬁ%%ﬂﬂ

2. Inclusion of sex and HIV and AIDS education for young children/ B¢ 5= & faw a4
&1 Td TaemEd quT TSy e BT FHaRH

3. HIV testing for children who are born to women living with HIV/ Qﬂ&ﬂéﬁtﬁ‘%ﬁmﬁ
S 9| 1 TSfTgal S

4. All of the above/ B'CPQIEH gt

Correct Answer :-

« All of the above/ Iuad Tt

34) Infants belong to which stage of psychosexual theory of Freud?/ Aduild
g1 P1gs & wAARe @B E) Rrgid @1 f5g sawr & gq 8

1. Oral/ Aifa®

2. Anal/ &
3. Phallic/ st

4, Latency/ Wﬁ

Correct Answer :-



35) HIV cannot be transmitted through:/ Qﬂsﬂﬁ ﬁq‘é’fﬂmm %I
1. Sweat/ G

2. Saliva/ dR

3. Urine/ H§
4. All of the above/ Iujad Tt

Correct Answer :-

« All of the above/ Iujad Tt

36) Dramatic play is also known as:/ AP HIST P ... Ht Fgd &
1. Constructive play/ IATHD Il

2. Make-believe play/ W-ﬁ%ﬂﬂ%ﬁ?ﬂ

3. White lies/ 93 I

4. Free spontaneous play/ Hﬂﬁwﬁwﬁﬁaﬂ@

Correct Answer :-
« Make-believe play/ W-ﬁ%ﬂﬂﬁ?ﬂ

37) The child begins to represent the world with words and images which are
represented through increased symbolic thinking in which stage of Piaget’s
Cognitive Development Theory?/ fUams & S3mTe® faera Rigia 1 fog s d
aﬁamﬁwr;&ﬁim%mmﬁ%ﬁam@ﬁwﬁﬁ%muwﬁgaﬁ%ﬁam
SRYH HIdl 5?2

1. Sensorimotor stage/ HAGRTATHD (HURIHAICY) AR
2. Preoperational stage/ Sfhal-qd sraw
3. Post operational stage/ Tfohar-ugyTd Sawi

4. Formal operational stage/ SuaTie Gfpar srawa

Correct Answer :-

- Preoperational stage/ |fha1-qd s/@=i

38) Which among the following scale is used to assess the health of new-
born babies at 1 and 5 minutes after birth?/ W%1®5ﬁq€mmﬁf§r§aﬁ
P WA BT ATHAT B & forg 3980 4 f5T T9H &1 IuahT fHar Sran 82



1. Vineland social maturity scale/ argacis TS gRUSHdT THT
2. Anthropometric scale/ AT (GRIUACH) THHT

3. Apgar scale/ ECI"Ra'HT:H

4. None of these/ sﬂﬁﬁaﬂéqﬁ

Correct Answer :-

« Apgar scale/ ECITRaTI'HT

39) The full form of ICPS is:/ 3TEUTUITH HT TRT ATH &:

1. Indian Child Protection Scheme/ WWWW(WW?&HW)

2. Integrated Child Protection Service / 3¢RIRS A13cE UIedRH Ifag (FRfdd T &1 )
3. Integrated Child Protection Scheme/ S¢hICS ATSee WedRM WM (FHfdd STeT & TToi)

4. Indian Child Participation Scheme/ f3g4 I8 UIRERIURM W1 (URJT a1 GgyTian
BISEN))

Correct Answer :-

« Integrated Child Protection Scheme/ 3¢icS AT WCaRM Wb 1H (FHIdd Tdl & Jror)

40) Arranging things in either ascending or descending order is known as:/

diell B ARTG! AT ARG HH | AT RUT HIA DI ... HgT o1l g
1. Serialization/ SPHSG/ShHIH

2. Classification/ CRIERU

3. Identification/ 3IfUs/ggam

4. Conservation/IRe&ur

Correct Answer :-

« Serialization/ hHSG/HHID

41) The Child Labour (Prohibition and Regulation) Act was passed in the

year:/ §1@ 49 (oY g forawe) sifbferay o ... o urfya gam am
1. 1980
2.1982
3.1984

4. 1986

Correct Answer :-



42) Which among the following does not stand true for Learning?/ ST

@fm & fe 378 T 1 91 3T @2
1. Learning is a continuous process/ WWWW%

2. Learning is a gradual process/ WWWW%

3. Improvement in performance results with practice and experience/ 3J¥rd @T&Iﬂ?ﬁ'

¥ U gRomy SgR Bl ©

4. Learning process always leads to boredom and fatigue/ SHfTH Ufshar ¥ Fag HRyan
(F9) 3R Fered ST g §

Correct Answer :-

» Learning process always leads to boredom and fatigue/ S{fTH Ufshar ¥ Fag FRyan
(F9) 3R Feraa Suagd &

43) Which among the following includes all measures aimed at reducing the
impact of disabling and handicapping conditions enabling the disabled and
handicapped to achieve social integration?/ 398 ¥ forad, 3r=ed vd fawein &
arelt fRufaat &1 gem, 3R 3mRad Ue fawai o+ & ATHTYS TPIHur Ui &% 3 § Ja
T R aféa |t Jurg e 8

1. LabeIIing/@aFFr

2. Rehabilitation/ 7aR
3. Identification/ 3fHI/AgaT

4. None of these/ sﬂﬁﬁaﬂéﬁ
Correct Answer :-

« Rehabilitation/ gard

44) I%DS scheme functions under the:/ sné;ﬂ@ﬂwuﬁw & 3r=aita B
Il gl

1. Ministry of Child Development/ H<d ¢ fad® g HaTer™d

2. Ministry of Health and Family Welfare/ a4 Td URIR 10l HAT(T

3. Ministry of Women and Child Development/ Afgel Ud aTd fasmra Hare™

4. Ministry of Social Justice and Empowerment/ JTHI{S& =10 T4 Hfeh1RAT HATC

Correct Answer :-

« Ministry of Women and Child Development/ Afgdl Td a1d fadb 9 Harer™



45) Child’s understanding that objects continue to exist even though they
cannot be seen or heard is termed as:/ ¥ 9t 9g IHe, f5 gy faemm s+t gt
¢, a9 +ft o9 I8 @1 I1 AT 9 &1 GHdT 8, T Hgard 3?

1. Fixation/ FRRUT (hauem)
2. Assimilation/ TERITA® U/ THROT (TRITHTRM)
3. Object permanence/ aﬁwﬁlc—q’

4. Mental equilibrium/ ATFRT® JTRTTRAT

Correct Answer :-

« Object permanence/ 3] 1@



